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The following Table - | shows the percentage distribution of overseas tourist traffic from India to different Countries and Table-ll shows
the percentage distribution of overseas tourist traffic from India according to their age during the year 2022. Based on the data in the
tables, answer the questions that follow.

Table - | Country-wise Distribution of Indian Overseas Tourists

Country
Japan U3A UK QOthers
30% 40% 10% 0%

Table - Il Age-wise Distribution of Indian Overseas Tourists

Age group

<Dyears | [30-40)years [A050) Years | 250 years
15% 15% 0% 0%

Whera [L-M) yaars means age is = Lyaars and < M years

Sub questions

Question Number : 1 Question Id : 22742713785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
If the tourist traffic from India to USA is 165000 more than that of UK then what is the difference between the Indian overseas tounist traffic in the

age group of [40-50) years and [30-40) years?

1.72500
2.21500
3.93000
4.42000

Options :

22742753701. 1
22742753702. 2
22742753703. 3

22742753704. 4



Question Number : 2 Question Id : 22742713786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The ratio of the number of Indian tourists who went to USA to the number of Indian tourists who went abroad and were below 40 years of age, is
1H

283

338

443

Options:

22742753705. 1

22742753706. 2

22742753707. 3

22742753708. 4

Question Number : 3 Question Id : 22742713787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

amongst ather countries, Switzerland accounted for 25% of the Indian tourist traffic and a total of 25 lakh Indian tourists had gone to
Switzerland during the year, then the number of [30-40) years old Indian tourists who went abroad in that year is

1.18.75 lakh

2 25 lakh

375 lakh

4 50 lakh

Options:
22742753709. 1
22742753710. 2
22742753711.3

22742753712. 4



Question Number : 4 Question Id : 22742713788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Ifthe total number of Indian tourists who went abroad to countries other than Japan, USA and UK was 3 lakhs in 2022, then what was the
volume of Indian tourists to USAin that year?

1.10lakhs

2.6 lakns

3.6 lakns

412 lakhs

Options :
22742753713. 1
22742753714. 2
22742753715.3

22742753716. 4

Question Number : 5 Question Id : 22742713789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Consider that the total number of Indian tourists who went to Japan in 2022 was 24000. fA s the number of Indian tourists who went o UK and
Bis the number of Indian overseas tourists who were =50 years old then (A, B) =

2000, 25000)
6000, 30000)
7000, 35000)

(
(
(
(6000, 40000)

1.
2
3
4
Options :

22742753717. 1
22742753718. 2
22742753719. 3

22742753720. 4



Question Id : 22742713784 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742713785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742753701.1
22742753702. 2
22742753703. 3

22742753704. 4

Question Number : 2 Question Id : 22742713786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753705. 1

22742753706. 2

22742753707. 3

22742753708. 4

Question Number : 3 Question Id : 22742713787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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22742753709. 1



22742753710. 2
22742753711. 3

22742753712. 4

Question Number : 4 Question Id : 22742713788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742753713. 1
22742753714. 2

22742753715. 3

22742753716. 4

Question Number : 5 Question Id : 22742713789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742753718. 2
22742753719. 3

22742753720. 4

Sub-Section Number : 2
Sub-Section Id : 227427542
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 22742713790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ateacher’s belief that he or she can reach even the most difficult students and help them leam is called

1. Teacher's knowledge

2. Teacher’s understanding
3. Teacher’s sense of efficacy
4 Teacher's seli-perception

Options :

22742753721. 1
22742753722. 2
22742753723.3

22742753724. 4

Question Number : 6 Question Id : 22742713790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753721. 1
22742753722, 2
22742753723. 3

22742753724. 4

Question Number : 7 Question Id : 22742713791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: Flip (ICT tool) allows users to record and share short video responses

Statement II: Flip (ICT tool) is primarily used for video discussions and presentations.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both statement | and Statement |l are correct

2. Both statement | and Statement || are incorrect
J. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options :

22742753725. 1
22742753726. 2
22742753727. 3

22742753728. 4

Question Number : 7 Question Id : 22742713791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753725. 1
22742753726. 2
22742753727.3
22742753728. 4

Question Number : 8 Question Id : 22742713792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |- In Jigsaw, each student in a group Is expected to specialize in one aspect of learning task.
Statement Il The major focus of the group investigation strategy is on the development of inquiry skills.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both statement | and Statement |l are correct

2. Both statement | and Statement |l are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options:
22742753729. 1
22742753730. 2

22742753731. 3



22742753732. 4

Question Number : 8 Question Id : 22742713792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753729. 1
22742753730. 2
22742753731. 3

22742753732. 4

Question Number : 9 Question Id : 22742713793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: Implicit memory refers to intentional or conscious recollection of information.

Statement [1; Explicit memory refers to memories people are not consciousy aware of. but that can affect their subsequent performance and
behaviour

In ight of the ahove statements, choose the most approprate answer from the options given below

1. Both statement | and Statement |l are correct

2 Both statement | and Statement Il are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incomect but statement Il is correct

Options :

227427537331
22742753734. 2
22742753735.3
22742753736. 4

Question Number : 9 Question Id : 22742713793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753733. 1

22742753734. 2



22742753735. 3

22742753736. 4

Question Number : 10 Question Id : 22742713794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Schuman'’s model 1s an example of which type of teaching model?

- Personal Basis Model

. Behaviour Altering Model
_Information Development Model
_ Social Interaction Model

[

=

Options:

22742753737. 1
22742753738. 2
22742753739.3

22742753740. 4

Question Number : 10 Question Id : 22742713794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753737. 1
22742753738. 2
22742753739. 3
22742753740. 4



Question Number : 11 Question Id : 22742713795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The purpose of theory Is o generate hypotheses that can be tested and that will thereby allow explanation of laws to be assessed. The above
statement refers to the principle of

1. Objectivism

2. Constructionism

3. Inductivism

4 Deductivism
Options:
22742753741.1
22742753742. 2
22742753743. 3

22742753744. 4

Question Number : 11 Question Id : 22742713795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742753741. 1
22742753742. 2
22742753743. 3

22742753744. 4



Question Number : 12 Question Id : 22742713796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The degree to which the measure of a concept truly reflects that concept, refers to

1. Ecological fallacy

2. Measurement validity
3. Ecological validity

4 External validity
Options:
22742753745. 1
22742753746. 2
22742753747. 3

22742753748. 4

Question Number : 12 Question Id : 22742713796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753745. 1
22742753746. 2
22742753747. 3

22742753748. 4

Question Number : 13 Question Id : 22742713797 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Correlation coefficients (r) along with their respective p-values are given. Identify the two most significant correlation coefficients from the
following:

A =077 p=0.25

B.r=061,p=0.01

C.r=0 41, p=0.59

D.1=0.37,p=003

Choose the correct answer from the options given below:

1. Aand B only
2. Aand C only
3. Band D only
4 Cand D only

Options :

22742753749. 1
22742753750. 2
22742753751. 3

22742753752. 4

Question Number : 13 Question Id : 22742713797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742753749. 1
22742753750. 2
22742753751. 3

22742753752. 4

Question Number : 14 Question Id : 22742713798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following test statistics is useful for conducting Analysis of Variance?

1. F
2.1
3. Chi square
4 7

Options:

22742753753. 1
22742753754, 2
22742753755.3

22742753756. 4



Question Number : 14 Question Id : 22742713798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753753. 1
22742753754. 2
22742753755. 3

22742753756. 4

Question Number : 15 Question Id : 22742713799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According fo UGC regulations 2018 for Prevention of Plagiarism, which among the following similarities would constitute Level 3 plagiarism?
A 38%

B.45%

C. 4%

D.63%

EN%

Choose the correct answer from the options given below:

1. Aand B only
2.8, Cand D only
3.Dand E only

4. Eonly

Options :

22742753757. 1
22742753758. 2
22742753759. 3

22742753760. 4

Question Number : 15 Question Id : 22742713799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742753757. 1
22742753758. 2
227427537509. 3

22742753760. 4

Question Number : 16 Question Id : 22742713800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The content and the outcome of an interaction together constitute

. Physical order
. Secret order

. Political order
. Textual order

L

F =N

Options:

22742753761. 1
22742753762. 2
22742753763.3

22742753764. 4



Question Number : 16 Question Id : 22742713800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753761. 1
22742753762. 2
22742753763.3

22742753764. 4

Question Number : 17 Question Id : 22742713801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

From the communication viewpoint, Adi Shankara's philosophical concept provides primacy to

Personal ego
Materialistic desires
- Self-consciousness
- Social conflicts

[ N

S

Options :

22742753765. 1
22742753766. 2
22742753767. 3

22742753768. 4

Question Number : 17 Question Id : 22742713801 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742753765. 1
22742753766. 2
22742753767.3

22742753768. 4

Question Number : 18 Question Id : 22742713802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the two basic psychological functions of intra-personal communication?
A_Internalisation of culturally organised ways of thinking

B. Promotion of leader centric speech

C. Regulation of one’s own mental activity

D. Orientation towards enhancing social disorders

Choose the correct answer from the options given below:

1. Aand B only
2 Aand C only
3. B and C only
4 Cand D only

Options:

22742753769. 1



22742753770. 2
22742753771. 3
22742753772. 4

Question Number : 18 Question Id : 22742713802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753769. 1
22742753770. 2
22742753771.3

22742753772. 4

Question Number : 19 Question Id : 22742713803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement |- In mass communication, ihe message is rapid and public

Statement [I: New technology has blurred the distinction between inter-personal communication and mass communication
Choose the correct answer from the options given below:

1. Both statement | and Statement Il are correct

2. Both statement | and Statement [ are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options :

227427537731
22742753774. 2
22742753775.3
22742753776. 4

Question Number : 19 Question Id : 22742713803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742753773. 1

22742753774. 2



22742753775. 3
22742753776. 4

Question Number : 20 Question Id : 22742713804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List -1 List -1l

(Communication model) |(Description)

A Linear |. Communication as interaction

B. Circular II. Communication as transaction

C. Mon - Linear 1. Model of Communication models
D. Meta V. Communication as action

1. A-ILB-IlLC-Ill,D-IV

2ZA-IILB-IILC-IV D-
JA-IILB-V,C-1,D-I

I

A-IV,B-I,C-1l.D-1l

Options :

22742753777. 1
22742753778. 2
22742753779. 3
22742753780. 4

Question Number : 20 Question Id : 22742713804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



! - &1 g - gHfad Pt

It -l It -l

(FEm JisT) @ui)

A TEHT |. VT, ST [ohdT & &9 |
B. 9@ Il S, TH-g & BH H

C. TRy I11. TS0 "igal @ "Aisd

D. aff¥ (#Fem) IV, EIY0 & % w0 §

d feu e famedl | ¥ wgl SR g :

1.A-1,B-1I,C-lll, D-IV
2 A-1ILB-ILC-IV,D-I
3A-IILB-V,C—-1.D-I
4 A-IVB-1,C—II,D-1I
Options :

227427537771
22742753778. 2
22742753779. 3

22742753780. 4

Question Number : 21 Question Id : 22742713805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

It takes 10 men to finish a work In 2 days. Four (4) men started to execute the work but after one (1) day. 3 of them left, How many days it will
take the lone man to finish the remaining work?

Options :

22742753781. 1
22742753782. 2
22742753783.3

22742753784. 4



Question Number : 21 Question Id : 22742713805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T &7 e A T 5 10 Rt 14 W 5 e ol 6 0 o 0 79 93 916 0 ) WO A
T 0 X9 7 1 T G A et Fd i 2

Options:

22742753781. 1
22742753782. 2
22742753783. 3

22742753784. 4

Question Number : 22 Question Id : 22742713806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding scheme

‘India is a growing economic power in world' is writen as ‘ba, fa, ga, si, na, wa, ta, mo’
‘Population of India is growing' is written as ’ja, ka, ba, si, ga’

‘Culture of India is soft power’ is written as ‘sa, ka, si, ba, la, wa’

What are the codes for ‘power’ and “of ?

1. wa, ka
2.wa, ba
3. ka, ba
4 wa, si

Options :



22742753785. 1
22742753786. 2
22742753787.3
22742753788. 4

Question Number : 22 Question Id : 22742713806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
CAGPREStER
Ry Are em e ufdd e @l o1 GBI M @ 1 I a1 AT & TUH GEr S g,

‘YR & T9E IHAF & &1 1 &1 & O M@ U H e aar g,

YR S GPpid Jg o o' DI F1, D198, & &0 H @1 <ar g,
Widq 9 Br AL F P g 2

1.9 ®I
2.9 d
3. @I dl
4 91 i

Options :

22742753785. 1
22742753786. 2
22742753787.3
22742753788. 4

Question Number : 23 Question Id : 22742713807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find the missing term in the following letter series

AMZ, BLY, CNX, DKW, EOV, ............7?

L =
M
=

o
2]
A
ey

Options :

22742753789. 1
22742753790. 2
22742753791. 3

22742753792. 4

Question Number : 23 Question Id : 22742713807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
9 21&R @ H Il Ug &1 Gl TRy ;

AMZ, BLY, CNX, DKW, EOV, ............7?

R
M
=

e
T
A
ey

Options:

22742753789. 1
22742753790. 2
22742753791.3
22742753792. 4

Question Number : 24 Question Id : 22742713808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

Time taken by & motor boat moving downstraam in a river to cover a distance and time taken by the motor boat to cover the same distance
upstream are in the ratio of 3. If speed of stream i 10 km/hr what is the speed of boat?

1.20 km/hr

225 kmihr

330 kmihr

4 40kmihr

Options :
22742753793. 1
22742753794. 2
22742753795. 3

22742753796. 4

Question Number : 24 Question Id : 22742713808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

% TR 101 1 0 ST o % U G 0 e 9 4 ST e o o 0 5 ) 1 0 35 6 o & 81 G ¢
B 106 A et o o i ol 2

1. 20f6 ¥
2 25 fH g
3 0fad g
4 40fH ) da
Options :
22742753793. 1
22742753794, 2
22742753795. 3

22742753796. 4

Question Number : 25 Question Id : 22742713809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
A Person sells an item at a discount of 40% and still makes a profit of 20%. By what parcentage was the marked price of the item more than the

cost price of the item?

1.50%

2.100%

3.150%

4 120%.

Options :
22742753797. 1
22742753798. 2
22742753799. 3

22742753800. 4

Question Number : 25 Question Id : 22742713809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T idkt U %] 1 40% 6 R Fopt e 20% T ol et 31 g TR ffhd 5 S e Hcd  fe Wi offid 412

1.50%

2.100%

3.150%

4.120%

Options :
22742753797. 1
22742753798. 2
22742753799. 3

22742753800. 4

Question Number : 26 Question Id : 22742713810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Afallacy is a defect in an argument that consists of something other than merely false premises
Statement (1) fan argument is unsound or uncogent, it has one or more false premises, or it contains a fallacy or both
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (I) and Statement () are true.
2 Both Statement (1) and Statement (I1) are false.
3. Statement (1) is true but Statement () is false.
4 Statement (1) is false but Statement (11) is true.

Options :

22742753801. 1
22742753802. 2
22742753803. 3

22742753804. 4

Question Number : 26 Question Id : 22742713810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Riafimg

0% . 0 0 o 3T 1 o R o RT3 30 ST g g

O I O s s 1 oS 8, 8 U 1 O ST SR Bl 1 b QN et & 11 9 G e gl
H
SR e o e F LT e & e S R 1 e i

1. 3% | 4R | 3 T 2

@ | 4R I 3H w2l

3. 00K | 0 5 o e | 3D 2
4. O | 0 § o & 1| 0 21
Options:
22742753801. 1

22742753802. 2



22742753803. 3

22742753804. 4

Question Number : 27 Question Id : 22742713811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged in order of decreasing connotation?

1. Instrument, musical instrument, string instrument, violin
2. Violin, musical instrument, string instrument, instrument
3. Violin, string instrument, musical instrument, instrument
4 Instrument, string instrument, musical instrument, violin
Options:

22742753805. 1

22742753806. 2

22742753807. 3

22742753808. 4

Question Number : 27 Question Id : 22742713811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
T # & 3 7o & ved §Y o A orafua § 2

1. 47, Tfld areda, ot aredd, oo
3. dafeH, ddl aregd. S@iid 9ed, 93
4. TF, I dreds, T aredE, i

Options :

22742753805. 1
22742753806. 2
22742753807. 3
22742753808. 4



Question Number : 28 Question Id : 22742713812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) A valid deductive argument cannot have all true premises and a false conclusion
Statement (Il): The concept of truth cannot be applied to arguments

In light of the above statements, choose the most appropriate answer from the options given below.

- Both Statement (1) and Statement (1) are true.
- Both Statement (1) and Statement (Il) are false.
_ Statement (1) I1s true but Statement (1) is false.
~Statement (1) Is false but Statement (I1) is true.

o fa —

o

Options:

227427538009. 1
22742753810. 2
22742753811. 3
22742753812. 4

Question Number : 28 Question Id : 22742713812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ey

&Y | Tt ay FemTers gidd & 9l snuRar 9 ud fshy 3w T8l 81 ¥dd 8l

&Y |I: O &1 Yhed gidad W H0gad ol &l obdl ¢l

SR &Y & e § Hid {80 70 @l § 1 9ad Iugdd IR &1 99 Bifo

1. B4 | R 11 EHI 9 B

2. @Y | AR || &H 9 B

3. ®Y | d © fohd HYH 1l Ud B
4 HYF | A [ HY 1| T B
Options :

227427538009. 1

22742753810. 2
22742753811. 3

22742753812. 4

Question Number : 29 Question Id : 22742713813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“[fyou love hot cakes and you love ice creams, then you will surely love hot cake ice cream”. Which fallacy is commitied in the above argument?

1. Fallacy of composition
2. Slippery slope

3. Fallacy of division

4 Hasty generalization

Options:

22742753813. 1
22742753814. 2
22742753815.3

22742753816. 4

Question Number : 29 Question Id : 22742713813 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Uf ST T 6 A ST G &, 0! R U 3 5 S G e ST S 9 W e R g
1. el am
). e I

1 [TR
4 HaIRd G

Options :

22742753813. 1
22742753814. 2
22742753815. 3

22742753816. 4

Question Number : 30 Question Id : 22742713814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Nyaya syllogism has three propositions and five terms

Statement (I1): Aristotelian syllogism has three propositions and three terms

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are true.
2 Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :

22742753817. 1
22742753818. 2
22742753819. 3

22742753820. 4



Question Number : 30 Question Id : 22742713814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
R PRy

DY |- UG =g H i+ Ufdaieral 3R uid ug gid |

B || SREaTS] e § Ji- ufagiaar iR §i7 ug 8id &

o

ifad Aol & ¥ 98 ST

SWdd YAl & Heid | g

1. HYF SR GH Gd gl

2 TYF | 3R 1| GHf T &

3. &Y | 9 ¢ fhd DU 1 A B
4 TYF | 3T & fhg A 1 9T @
Options:

22742753817. 1

22742753818. 2

22742753819. 3

22742753820. 4

Question Number : 31 Question Id : 22742713815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the base — 10 number 100. In base — 6, it would be represented as

Options :
22742753821. 1
22742753822. 2



22742753823. 3

22742753824. 4

Question Number : 31 Question Id : 22742713815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
YR (99) - 10 P U= 100 ST R -6 H g8 A9 T 1 feog ¥4 § yefid gift 2

Options:

22742753821. 1
22742753822. 2
22742753823.3

22742753824. 4

Question Number : 32 Question Id : 22742713816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Wiki is usually in some form of chronological order and postings tend to be short in length
Statement (I1): Amobile phone (cell phone) primarily uses flash memory

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are frue.
2. Both Statement (1) and Statement (Il) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (Il) is true.

Options :



22742753825. 1
22742753826. 2
22742753827. 3

22742753828. 4

Question Number : 32 Question Id : 22742713816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o ey

&Y | R ¥ 4 fao! fodl yeR & Srarm e ¥ 1 gidl 8 R Ui awars § 81 gidl 8

Y |I: HiEIZd B (Sd BF) Teid: Hi¥ 3R &1 §ai oidl g |

e O

IuUH B & el § Ffaiad fdodl § ¥ gl SW 3

1
3

1. Y| IR 11 TH T B

2 ®YF | AR I gHI 9d 5

3. B | 9 ¢ foog YA |1 30T B
4. B | 3T & g Y || TA B |
Options :

22742753825. 1
22742753826. 2
22742753827. 3

22742753828. 4

Question Number : 33 Question Id : 22742713817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement (I): RFID is the use of fingerprint scans, retina scans, face identification, etc as & way of indentifying & person uniquely.

Statement (1l): The website using the streaming method to deliver video means that the video can be played while it is being downloaded and
acccordingly less time is requried before users can view the video

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742753829. 1
22742753830. 2
22742753831.3

22742753832. 4

Question Number : 33 Question Id : 22742713817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T3 o R

2 | ot 1 TR0y 0 8 G 0 o 0 70 & U o 10 S, 0 65, 1 U, T 1 T R 06 9 1

00 I T o T oo e (R o i e 1 o] & o 1 T3 St o o X1, 30 et o el & o
GO AR e 1 ¢ W § O A 0 T o

T T 3 A e el A 9 R o g

1.3 |91 3H T

) B 4R 11 EH T

3 | TS TH 3 || 9 2
4 T | S 8 For 72 1| 0 2
Options:
22742753829. 1

22742753830. 2



22742753831. 3
22742753832. 4

Question Number : 34 Question Id : 22742713818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are frue?

1. One of the main advantages of ROM is that the information stored on the ROM chip is not lost even when the power to the computer is tumed
off

2. ASClIis an acronym for American Standard Code for Intelligent Information

3. Compared to desktop computers, laptop computers are portable since all its components are together in one single unit

1. Aand B only

2. Aand C only

3. Band G only

4 ABandC
Options:
22742753833. 1
22742753834, 2
22742753835. 3

22742753836. 4

Question Number : 34 Question Id : 22742713818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Eue R R e R

A 3R ¥ T 31 T T8 T4 T2 & 10 o 30l 00 ot R iR a1, g 1 o o s 3 o G o @ e e g
B UTHH! o5 &% e g8 HIE B gecluc BNANA @1 §3W T g

C. eI B! 1 e A Uy HU TRl BId & i 390 940 90 06 T 9 41 @R A el ¢

id RO 0 fomedl # Y W TR

1 FIAAIRB
2 BIAAINC
3 B30B IR C
4ABIRC

Options :

22742753833, 1
22742753834. 2
22742753835. 3
22742753836. 4

Question Number : 35 Question Id : 22742713819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List | (Usge) List Il (Appropriate Input Device)
A. To select options from a list |. Keyboard
B. To type data into a database Il. OMR

C.To input candidate's MCQ answer marked in pre-determined positions|lll. Chip Reader

D.To input data directly from a bank card V. Mouse

1LA-ILB-IILC-1,D-IV
2A-ILB-1,C-1,D-IV
JA-IVB-I,C-IlLD-1I
4 A-IV,B-Il.C-1,D-1I
Options :
22742753837. 1
22742753838. 2

22742753839. 3



22742753840. 4

Question Number : 35 Question Id : 22742713819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gt | &l Gl 11 ¥ gHfed Pife :

T - ST qﬁ; L
A T get § fgsedl & 999 8  E e

B. STeTed H SIET €50 &g 1. 3T T AR

c. [@ Fuifa saffeal § spaff g o m dt ey .

IR & R g . e dse

D. 91 3% &18 § Sl FHaeH &g N

I leu e fasedl o O UE 3R g

1.A-1I,B-Il,C-I, D-IV
2 A-1I,B-1,C-1l, D-IV
3A-IV,B-1,C-Il, D-1l
4 A-IV,B-Il,C-I, D-1
Options :

22742753837. 1
22742753838. 2
22742753839. 3

22742753840. 4

Question Number : 36 Question Id : 22742713820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which one of the following Conference of Parties (COP) Kyoto protocol was adopted?

1. COP -1
2.COP-3
3.COP-7
4 COP-10



Options :

22742753841. 1
22742753842, 2
22742753843. 3

22742753844. 4

Question Number : 36 Question Id : 22742713820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
I Uieidid @ HafcRad H ¥ fog o6 b ureie (3 3 i) 8§ SFiaR fagr 7/ 412

1.4 3t - 1
2 Wafdi-3
3 Wad-7
4 T afdi-10

Options :

22742753841. 1
22742753842. 2
22742753843. 3
22742753844. 4

Question Number : 37 Question Id : 22742713821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If a water body is healthy and supports no significant biological activity, then its condition is called as

1. Hypotrophic
2. Mesotrophic
3. Eutrophic

4. Oligotrophic

Options :



22742753845. 1
22742753846. 2
22742753847. 3

22742753848. 4

Question Number : 37 Question Id : 22742713821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e, Bl o P WG & R 399 Bl HeaqUl oiad a1 Tal ol U 5, dl 39 Rufd &1 341 @el oI 62
2 o i

4 Togurui]

Options :

22742753845. 1

22742753846. 2

22742753847. 3

22742753848. 4

Question Number : 38 Question Id : 22742713822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



To qualify as hazardous waste, a waste must have the following characteristics:
A Ignitability

B. Corrosivity

C. Reactivity

D. Toxicity

E. Radioactivity

Choose the correct answer from the options given below:

1. A, CandD only
2.C,DandE only
3.A B, CandE only
4 AB C DandE

Options :

22742753849. 1
22742753850. 2
22742753851. 3
22742753852. 4

Question Number : 38 Question Id : 22742713822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G S(URY $e S & e feedt srufdiy # 7 fagiwan gt =mfee -
A SaTiadr

B. H&Radl

C. SifHigaritean

D. fauraan

E fsarafeaan

I feu U fapedf § © el SR T -

1. BadA C3RD
2 ®add C, D3RE
3. ®dd A B, C3RE
4 A B C D3RE

Options :

22742753849. 1
22742753850. 2
22742753851. 3

22742753852. 4

Question Number : 39 Question Id : 22742713823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Acid rain occurs within, and downwind of areas of major industrial emissions of sulfurdioxide and oxides of nitrogen.
Statement (I1): Long range transport of airborne pollutants can be responsible for acid rain in areas far off from industrial imissions.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) I frue but Statement (1) Is false.
4 Statement (1) Is false but Statement (1) is true.

Options:



22742753853. 1
22742753854. 2
22742753855. 3

22742753856. 4

Question Number : 39 Question Id : 22742713823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hiwrakum?
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Options :

22742753853, 1

22742753854, 2

22742753855. 3

22742753856. 4

Question Number : 40 Question Id : 22742713824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Life below water’ pertains to which of the SDGs?
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Options :

22742753857. 1
22742753858. 2
22742753859. 3
22742753860. 4

Question Number : 40 Question Id : 22742713824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742753857. 1
22742753858. 2
22742753859. 3
22742753860. 4

Question Number : 41 Question Id : 22742713825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Ujjain, in ancient India, was famous for the study of

1. Veterinary science
2. Chinese philosophy
3. Astronomy

4. Community work
Options :
22742753861. 1
22742753862. 2
22742753863. 3

22742753864. 4

Question Number : 41 Question Id : 22742713825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742753861. 1
22742753862. 2
22742753863. 3

22742753864. 4

Question Number : 42 Question Id : 22742713826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The National Knowledge Commission recommended ‘needs-blind admissions’ for

_ National universities

_ State universities

_ Private universities

. Foreign universities operating in India
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Options :

22742753865. 1
22742753866. 2
22742753867. 3

22742753868. 4

Question Number : 42 Question Id : 22742713826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753865. 1
22742753866. 2
22742753867.3

22742753868. 4

Question Number : 43 Question Id : 22742713827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Education/Despatch of 1554 suggested professional training in
A Library science

B. Law

C. Medicine

D. Civil Engineering

E. Material science

Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 A B andE only

Options :

22742753869. 1
22742753870. 2
22742753871.3
22742753872. 4

Question Number : 43 Question Id : 22742713827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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227427538609. 1
22742753870. 2
22742753871. 3

22742753872. 4

Question Number : 44 Question Id : 22742713828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A policy frame work developed by the UGC in 1978 suggested

A Closure of private universities.

B .Increase in the number of universities.

C.Support for high quality experimental research.
D.Discontinuation of autonomous colleges.

E Introduction of inter-disciplinary courses at under graduate level.
Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 B, CandE only

Options :

22742753873. 1
22742753874. 2
22742753875. 3
22742753876. 4

Question Number : 44 Question Id : 22742713828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753873. 1
22742753874, 2
22742753875. 3

22742753876. 4

Question Number : 45 Question Id : 22742713829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements:

Statement (I): According to the National Education Policy 2020, teaching duties wil be more, and student-teacher ratio will be high, and facutty
will be generally transferable across institutions in the country.

Statement (11): According to the NEP. 2020, faculty will be given the iiberty to design heir pedagogical approaches for innovative teaching and
research

In ight of the ahove statements, choose the most approprate answer from the options given below

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) s frue

Options :

22742753877. 1
22742753878. 2
22742753879. 3

22742753880. 4

Question Number : 45 Question Id : 22742713829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742753878. 2
22742753879. 3

22742753880. 4

Sub-Section Number : 3
Sub-Section Id : 227427543
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 22742713830 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the below passage and answer the following questions

Climate change and its imperatives across the globe have moved beyond the immediate compulsions of rising mercury levels on planet Earth It
is today a debate among nations on geo-politics and the shift in economic balance from the developed countries to the emerging economies. The
rhetoric by global leaders thus needs to be taken with a pinch of salt for it s not all about climate change concerns. The changing axis of
economic power to the East and emerging countries of Asia will perhaps take & while to sink In. Developing economies like India are just
beginning to take baby steps on the global stage and industry and entrepreneurship will have fo go & long way. Millions of households in India
still have to depend on firewood and kerosene to light up their homes even as scores of Indians die every year for want of basic health amenities.
The priority for suich & nation is meeting basic needs, providing food. health and education rather than spending large portions of its GDP on
importing technologies to cut emissions. India nesds to do ts bit, but on its own terms and at its own pace.

Sub questions

Question Number : 46 Question Id : 22742713831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The main focus of the passage in on

1. Climate change and its impact

2. Climate change and geopolitics

3. Climate change and developmental imperatives
4. Climate change and mitigation strategies

Options :

22742753881. 1
22742753882. 2
22742753883. 3
22742753884. 4

Question Number : 47 Question Id : 22742713832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the problems faced by developing economies like India?

A They are extremely poor

B. Many people in India lack basic health amenities

C.They are extremely rich

D .Millions of people still depend on firewood and kerosene to light up their homes
Choose the correct answer from the options given below:

1. A, Band D only
2. B and D only
3. B, Cand D only
4 Aand D only

Options :

22742753885. 1
22742753886. 2
22742753887. 3
22742753888. 4



Question Number : 48 Question Id : 22742713833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What should India first and foremost focus on?

. Developing indigenous technologies to cut emissions
. Importing technologies to cut emissions

. Provide food, health and education to its people

. spend large sums of money to cut down emissions
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Options :

22742753889. 1
22742753890. 2
22742753891.3

22742753892. 4

Question Number : 49 Question Id : 22742713834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following facts related to climate change are true?

A The global leaders are indifferent to the issue of climate change

B.The climate change talks are sometimes directed towards political and economic gain rather than climate change
C.Itis about the shift in economic balance from the developed economies to the emerging economies

D Developing economies like India can afford to spend large sums of money to cut emissions

Choose the correct answer from the options given below:

1.Band C only
2.A BandConly
3.B,Cand D only
4 Aand D only

Options :

22742753893. 1



22742753894. 2
22742753895. 3

22742753896. 4

Question Number : 50 Question Id : 22742713835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) India should take measures to cut down emissions but not at the cost of development.
Statement (I1): India should ban the use of firewood and kerosene and opt for cleaner fuels.

In light of the above statements, choose the most appropriate answer from the options given below

. Both Statement (1) and Statement (1) are true

- Both Statement (1) and Statement (1) are false.
- Statement (1) Is true but Statement (1) is false.
- Statement (1) is false but Statement (1) is true
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Options :

22742753897. 1
22742753898. 2
22742753899. 3

22742753900. 4

Question Id : 22742713830 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Options :
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22742753884. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YR o fmraeie srforarunst o Fg § 3 &1 O gawns & ama s S Wi e 2
A d s FHT )

B. HRd H 3 oaidadl & U §-1e] TRy giawrsfi & 3HE ¢

C. d D & g

D. TRaT TRT HUH ORI B UHTRId B o g i off Sraira= gl & dd R AR )

T U e Y TS ST -

1. Had A, B3IRD
2 $aaB 3R D
3 %ddB, C3RD
4 HITAIARD

Options :

22742753885. 1
22742753886. 2
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22742753888. 4

Question Number : 48 Question Id : 22742713833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
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22742753902. 2
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22742753904. 4
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22742753905. 1

22742753906. 2

22742753907. 3

22742753908. 4
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22742753909. 1

22742753910. 2

22742753911. 3

22742753912. 4
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22742753914. 2
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22742753917. 1

22742753918, 2

22742753919, 3

22742753920. 4
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22742753917.1

22742753918. 2
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22742753920. 4
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22742753925. 1
22742753926. 2
22742753927. 3
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22742753925. 1
22742753926. 2
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22742753929. 1
22742753930. 2
22742753931. 3
22742753932. 4
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22742753934. 2
22742753935. 3

22742753936. 4

Question Number : 59 Question Id : 22742713844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
2 (A Ylese Beldyys s34 Yads RHAGLE (RAE] v sildeud el s 8 2

1. Ul J7w2Udl 96l - As Aldel s quIdlusil
2. Hrqy[dofe

3. W&d (ol

4 Jo2dl [Gorn «Adl g(p

Options:

22742753933. 1
22742753934, 2
22742753935. 3

22742753936. 4

Question Number : 60 Question Id : 22742713845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



[QQUAR AFedlts wUAdS12 518 Al B 2

1 [awauie (Aa¢l
- Wdd21Y sl512
YetH,
uHlEsHIR Y2d
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Options :

22742753937. 1
22742753938. 2
22742753939. 3

22742753940. 4

Question Number : 60 Question Id : 22742713845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
(A0t U edls w1 S8 QU] B 2

1 [awgute (Aael
- Wddr1Y 6l51R
Yot

UHlE SR Y2d
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Options:

22742753937. 1
22742753938. 2
22742753939. 3

22742753940. 4

Question Number : 61 Question Id : 22742713846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



o 5 6l51dl 585 e[ 5[ oA2il 2

elsdl wdeu R+l
aldlesd
Hwes(2es

Y [Stlel QLo
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Options :

22742753941. 1
22742753942. 2
22742753943. 3

22742753944. 4

Question Number : 61 Question Id : 22742713846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

0l 5. 8LSIReAl 58 eq[ed 5(d «12f] 2

elsedl el Rl
Al
Ha9s(es

W [HStlet QLo
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Options:

22742753941. 1
22742753942, 2
22742753943.3

22742753944 4

Question Number : 62 Question Id : 22742713847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



of [ Aol (H i8] 53 (Qulef it te] oteil 2

1. dlas[adl ¥y sld] g3
2 Lyric ¥2d Jldsladl

3. 3ld sladl d o A1aild sladl
4. s[ddla 58 A Y4ededl 22 8]
Options :

22742753945. 1

22742753946. 2
22742753947. 3

22742753948. 4

Question Number : 62 Question Id : 22742713847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
o[ At el s (Qellot oftles] o12]l 2

1. dlas(adl v sld] s
2 Lyric ¥ed Jlds(ddl

3. 3ld sladl d o 1dild sladl
4. s5[ddla 56 J™eiedl w22 o8]
Options:

22742753945, 1

22742753946. 2
22742753947. 3

22742753948. 4

Question Number : 63 Question Id : 22742713848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



(@ Hed s [quid w1 B 2

1. [efd Quisiued(defl 2idold &1Lt B.

2. 5d2d GRIRRIsL Ades (efUoied s3] sy,

3. [dalell €35 elNIRD (Gueied §1U 8

4 (428 GRRIsLL H25le ¢2uUBdl gl21 2% s2dled] ey
Options :

22742753949. 1

22742753950. 2

22742753951. 3

22742753952. 4

Question Number : 63 Question Id : 22742713848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[afu Hed s [quid 41 B 2

1. (A1 Quistuer[dstl 2{ddld ¢11 B,

2. Sl GRURRI-AL Al (@eied s3] asld

3. [asdell €35 ARl @l sy 8

4. (@l ¥ed GuIREIsL H25lo £2UBdl lR1 2% 51+l cude|
Options:

22742753949. 1

22742753950. 2

22742753951. 3

22742753952. 4

Question Number : 64 Question Id : 22742713849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



w51 Geledl 54 B2

1. 5214

2. 4l

3 [Anald

4 e
Options :
22742753953. 1
22742753954. 2
22742753955. 3

22742753956. 4

Question Number : 64 Question Id : 22742713849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
u{e[ 51Us] Gels 54 B 2

1. 52101

2 4l

3 [Anald

4 &Y
Options:
22742753953, 1
22742753954, 2
22742753955. 3

22742753956. 4

Question Number : 65 Question Id : 22742713850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



U e [eft2s 54l Usledl o8] ?

1. sHadl

2 [aeilon

3. ¥ [uuisly

4 visly
Options :
22742753957. 1
22742753958, 2
22742753959. 3

22742753960. 4

Question Number : 65 Question Id : 22742713850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Y - edfeitl2s UL UsIRe o8] ?

1. sHdd]

2. [qeilow

3. ¥[guisly

4. visly
Options:
22742753957. 1
22742753958. 2
22742753959. 3

22742753960. 4

Question Number : 66 Question Id : 22742713851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



w57, Wd M2 sULUslRell wdlde2 sl el 2

visly
Y [guisly
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deddl
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Options :

22742753961. 1
22742753962. 2
22742753963. 3

22742753964. 4

Question Number : 66 Question Id : 22742713851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

%542, W [d, ®IR UL UsRe td[A825] ofel] 2

uisly

v[guisly

RAGLETL
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Options:

22742753961. 1
22742753962. 2
22742753963. 3

22742753964. 4

Question Number : 67 Question Id : 22742713852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



dee 02l sd aryia [Es1 sldell uisduiel s189 wejale sd1 8 2

1. e{loflele UBAz
2 sRdeqet eyl
3. 3.5l 2Ll
4.%.& 44
Options :
22742753965. 1
22742753966. 2
22742753967. 3

22742753968. 4

Question Number : 67 Question Id : 22742713852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
AeelA9U(8L 5d 'alyra (&SI s[dsll ulsduieil 518] »iaale 541 B 2

1. efoilalg Aidul
2 &lRaeqe) efell
3. % 51 2Ll

4 %& yd
Options:
22742753965. 1
22742753966, 2
22742753967. 3

22742753968. 4

Question Number : 68 Question Id : 22742713853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753969. 1
22742753970. 2
22742753971.3

22742753972. 4

Question Number : 68 Question Id : 22742713853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
oild], el einionEla 2 (AN U Hellued sul dellds s 82

1% SI6il

%Y lde el
ENIGETERATRIE
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Options:

22742753969. 1
22742753970. 2
22742753971.3
22742753972. 4

Question Number : 69 Question Id : 22742713854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753973. 1
22742753974. 2
22742753975. 3

22742753976. 4

Question Number : 69 Question Id : 22742713854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
sHO12i52 (RAeld culsellanys 59 Yads 9] 2

Il culsrelE
w2l NI ageLsil
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Options:

22742753973. 1
22742753974. 2
22742753975.3

22742753976. 4

Question Number : 70 Question Id : 22742713855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



of [ Aol Hie] 54| dlssell AUS YUbs? U152 oAl 2

1. vlu{sue{] dlssel

2. VUL si6ledl A - duils
3 Wdell WIS

4 w5y

Options :

22742753977. 1
22742753978, 2
22742753979. 3

22742753980. 4

Question Number : 70 Question Id : 22742713855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
of | Aot (H120] 521 lss2ll AAS Uss2 A2 152]] o12i] 2

1. vlupisue{] dlssel

2. V&Y 5161l A - yuilsi
3 Wdell WS

4 uil(sy

Options:

22742753977. 1
22742753978 2
22742753979, 3

22742753980. 4

Question Number : 71 Question Id : 22742713856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753981. 1
22742753982. 2
22742753983. 3

22742753984. 4

Question Number : 71 Question Id : 22742713856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o |1 Aot 118l 59 €25 dlsselle] Ulkldd ARIaL] 8 2

Options:

22742753981. 1
22742753982. 2
22742753983.3

22742753984. 4

Question Number : 72 Question Id : 22742713857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. 26 &
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4 Huid i

Options :

22742753985. 1

22742753986. 2

22742753987. 3

22742753988. 4

Question Number : 72 Question Id

sALUsE YA B 2

: 22742713857 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Uzl52U8 Hlele uslaul Ulsds] [Qeioet
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2 Y12 Yl Uk o
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Options :
22742753985. 1
22742753986. 2
22742753987. 3

22742753988. 4

Question Number : 73 Question Id

sqlUslI g S92

: 22742713858 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. W1Es Ha [2rus] vissicy 8

2 uiSslcy ¥eq sl [Hslcy.

3. LiSslcy st Ulew B,

4 A322 (585) Uld di3 GulRad sl &
Options :

22742753989, 1

22742753990. 2

22742753991, 3

22742753992. 4

Question Number : 73 Question Id : 22742713858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
u{Ssley 2 Aed s [duldd U1y oell 2

1. 61gs 2 [2ruds] vissley B

2 uiSslcy ¥2q sl [{sle.

3. LiSslcy st Uleu B,

4 322 (585) Uld dil3 GulRad slu &
Options:

22742753989. 1

22742753990, 2

22742753991. 3

22742753992. 4

Question Number : 74 Question Id : 22742713859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. [Auyledz
2w [d 58

3. 1d2[dsR

4 dUlsds Yol
Options :
22742753993, 1
22742753994, 2
22742753995, 3

22742753996. 4

Question Number : 74 Question Id : 22742713859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Aled [codel 2y 53 4@l «ief] ?

1. [auled?

2. v [d 58t

3. 12Aasik

4 dUlsds Yol
Options:
22742753993, 1
22742753994, 2
22742753995, 3

22742753996. 4

Question Number : 75 Question Id : 22742713860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. ¥4 14Hg (] ud
2. 9lildud

3. oj2ll¥et ud
4 Hi¥g ud
Options :
22742753997. 1
22742753998, 2
22742753999, 3

22742754000. 4

Question Number : 75 Question Id : 22742713860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
el (Ud e He UL Heleldedl 541 UdH (Ul 8 2

1. ¥ 1yuq il ud
2. 9lildud

3. e{2ll et Ud
4 Hi¥g ud
Options:
22742753997. 1
22742753998, 2
22742753999, 3

22742754000. 4

Question Number : 76 Question Id : 22742713861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



of | et [Hiell 56 lad sell ool i ledl 12l 2

1. Hleled) Hleid]
2. 3121

3. o Sald

4 W14 [A%d
Options :
22742754001. 1
22742754002. 2
22742754003. 3

22742754004. 4

Question Number : 76 Question Id : 22742713861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

o | Aet (M8l 56 eae sl oldflol] M Isi] otef] 2

1. Y2l Hletdl
2 3121

3. o &ald
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Options:
22742754001. 1
22742754002. 2
22742754003. 3

22742754004. 4

Question Number : 77 Question Id : 22742713862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



of [ Aot (1] sul BN aldla @HRe) A Y A0 § 2

Illdy
Hidat
MRl
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[ s
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Options :

22742754005. 1
22742754006. 2
22742754007. 3

22742754008. 4

Question Number : 77 Question Id : 22742713862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
of | Aot (H120] sUL BN Qleflel @RIH1AL1) 2 Moy 2 B 2

Illdy
Yidat
MRl
Hreidl
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Options:

22742754005. 1
22742754006. 2
22742754007. 3

22742754008. 4

Question Number : 78 Question Id : 22742713863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427540009. 1
22742754010. 2
22742754011. 3
22742754012. 4

Question Number : 78 Question Id : 22742713863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
sUELIY sd (Sl 2Ulgertbell 54 vis & ¢l [Allfyd el 2

ey
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L kD =

=

Options:

227427540009. 1
22742754010. 2
22742754011.3

22742754012. 4

Question Number : 79 Question Id : 22742713864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1.ydlqy

2 WRlusk

3.t

4 9l
Options :
22742754013. 1
22742754014, 2
22742754015. 3

22742754016. 4

Question Number : 79 Question Id : 22742713864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
L 4248 A sludlssil Wl o Uael sils@l of §1 - 241 [Qlet 531 slUsA Aejdella AMI AU S 2

1.yaldly

2 WRlusk

3. 4o

4 9\
Options:
22742754013. 1
22742754014 2
22742754015. 3

22742754016. 4

Question Number : 80 Question Id : 22742713865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



'l @l diRl QR AYLAHE ULl Ui - Ulsd sul s[dsfl & 2

1. £4Ud2H
2 oHg,

3. A2 [de1q (edleul
4 ¥Hd glug
Options :
22742754017 1
22742754018. 2
22742754019. 3

22742754020. 4

Question Number : 80 Question Id : 22742713865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
‘Al Al R AR AUAHE UL AT - Ulsdt sl s(deAl B 2

1. £4Ud2H
2 oitg,

3. o2 [He2q (edl2ul
4 ¥{Yd glug
Options:
22742754017. 1
22742754018. 2
22742754019. 3

22742754020. 4

Question Number : 81 Question Id : 22742713866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



YA&Z 5d - HUGLed 3L 59 UlA 1] 2

1. [stlud

2 UduBilR

3 Uz

4 o7H[HE
Options :
22742754021, 1
22742754022. 2
22742754023. 3

22742754024. 4

Question Number : 81 Question Id : 22742713866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

4AM2 5d - UHGL B HI 54 UlA o2l 2

1. [{lg

2. UdiupLiR

3. UzleR

4 o1
Options:
22742754021. 1
22742754022. 2
22742754023. 3

22742754024. 4

Question Number : 82 Question Id : 22742713867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. GHI2i52 *Aleil

2 ¢log t1d 58 (43¢]

3. [awuale (43¢l

4. % 51 2llEl

Options :

22742754025. 1

22742754026. 2

22742754027. 3

22742754028. 4

Question Number : 82 Question Id : 22742713867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Bl S HRldl of Aulest 5181 59 el ?

1. GHI2is2 el

2 ¢fler 419582 (H36]
3. [awauals (43¢l

4. % 51 2llHl
Options:
22742754025. 1
22742754026 2
22742754027. 3

22742754028. 4

Question Number : 83 Question Id : 22742713868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. 2ASAIHIA

2.4 35

3. Hsale
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Options :

22742754029. 1

22742754030. 2

22742754031 3

22742754032. 4

Question Number : 83 Question Id : 22742713868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o[ At el 59 olles URRISIHI g 8 2
1. AUSAIHAUA
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3. Hsoley

4. 48221 12 ANEL

Options:

22742754029. 1

22742754030. 2

22742754031. 3

22742754032. 4

Question Number : 84 Question Id : 22742713869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. [Hey e

2.4 2144

3. SledHI2L

4 4@
Options :
22742754033. 1
22742754034, 2
22742754035. 3

22742754036. 4

Question Number : 84 Question Id : 22742713869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
of [ Aot (M2l 58 slag s =48 LIS e (16R) 18 UsWHI du{lAg & ?

1. [Heeef

2.4 2144

3. SledlMI21

4 4=y
Options:
22742754033. 1
22742754034, 2
22742754035. 3

22742754036. 4

Question Number : 85 Question Id : 22742713870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



of [ Aot (1] 54 WA U[AdLTULS 5cd 5142 2ol U HIGRSAH] (AUl o18]l 2

1. [14$

2 <l

3 uldHe

4. [Hu 3[as
Options :
22742754037. 1
22742754038. 2
22742754039. 3

22742754040. 4

Question Number : 85 Question Id : 22742713870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
of [ Aot (1] 54 WA AU[AALTAULS 5l '5142 2ot 2 HIGRSAHI (AU «18fl 2

1. [Has

2 <l

3 uldHe

4. [Hu3[las
Options:
22742754037. 1
22742754038, 2
22742754039. 3

22742754040. 4

Question Number : 86 Question Id : 22742713871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



'qelellcds HllEa [auys Ay 519 UsiELd sdl 4] 2

1. ¥4 (8ol TUIS
2 WA UL

3. Adey TAULE

4 yl» uilu
Options :
22742754041, 1
22742754042. 2
22742754043. 3

22742754044. 4

Question Number : 86 Question Id : 22742713871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

'qeelcds AllS [auus o 519 usi2Ld sdl el 2

1. ¥4 (8ol BHIE
2 WA UL

3. Adey LAULE

4 tl» yilu
Options:
22742754041. 1
22742754042, 2
22742754043. 3

22742754044. 4

Question Number : 87 Question Id : 22742713872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



2eldl (56 KUl AR sedl s(d uell 218 § 2
1. WMl uldd

2 H3Y] tdl

3. HelAdikdl

4 l2iyeifzdl

Options :

22742754045. 1

22742754046. 2

22742754047. 3

22742754048. 4

Question Number : 87 Question Id : 22742713872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el (s6 UL AU seil 5(d uell 218 B 2
1 Yl uldd

2 33Y] tdl

3. HelAdidl

4 vlelyLilzdl

Options:

22742754045. 1

22742754046, 2

22742754047. 3

22742754048. 4

Question Number : 88 Question Id : 22742713873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



ddHle YA ‘(e @tasofl Wldul dlsafldetl el slan Hel 2a0 il sul dus Yald 8 2

1. ¥{Hd Ued

2 wjodd el

3 #(l28 GIRIGIZ
4 <{|d9 Usy|
Options :
22742754049. 1
22742754050. 2
22742754051. 3

22742754052. 4

Question Number : 88 Question Id : 22742713873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Aot YA ‘(e @tasofl Yldul dlsofldetl wralesd] slan Hel o0 gl s34l 8us 4ad § 2

1. 2{Hd u2d

2. wodd el

3. ®Rel olelei
4 {1821 ysyl
Options:
22742754049. 1
22742754050. 2
22742754051. 3

22742754052. 4

Question Number : 89 Question Id : 22742713874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



ol Aat (Hig] Ul A% ALEA A2 Y5161 2dls12 sUl 9] 2

ey

GuIRis? el

- &Rdeaq el
4 % sl 2l

[ s

Options :

22742754053. 1
22742754054. 2
22742754055. 3

22742754056. 4

Question Number : 89 Question Id : 22742713874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
of | Aot (H120] 5L A3 AllE MG Y2510l 2512 54l o12i] 2

ey

- Guleis? el

- &Raeae eiil
4 % sl 2Ll

L kD =

Options:

22742754053. 1
22742754054. 2
22742754055. 3

22742754056. 4

Question Number : 90 Question Id : 22742713875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



dasls20 Hed 53 [Quled HIR el 2

Aladslsrel W His viL(s ¢ [P o qH 2AsIU D

Aladslsrel w1y sl s200) wilavsiz B

Aladslsred A1y (s HUR e [AlAuaed] GuselA [Ardi] wedlc] &
dEd sgHedsHHI Als|satedl e e fodd 21y B

(L RS

o

Options :

22742754057. 1
22742754058. 2
22742754059. 3

22742754060. 4

Question Number : 90 Question Id : 22742713875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
d(adsls2el Aedl 54 [qelst AR <l 2

Alsdslsre A i wL(es g [B o qu AsU D

Axdslsre w1y fesls200-0) wilawsiz B

Alxdslsraie A1y (s HUR wa [@lAuasd] GuselA [Aadil wedlc] &
Ayt s s Als] 52006l 2 e foAd 2 B,

(L Ry

=

Options:

22742754057. 1
22742754058. 2
22742754059. 3
22742754060. 4

Question Number : 91 Question Id : 22742713876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



YR SYIM 245 old YRl Y]

(A). SR BALSA Al UMM 2 5

(B). oldaR (M USAL el - ALIYA' ol clod] 4oy

(C). WetH p2Lell (Us[or N 22 4y

(D). a0 A6 [MUcle @19 1552 diel[Ascllsf] Qreid 241 YoM AL [A2YBl] d8el ool 269
(E). A2dt [Qtidlaol 2esiid il AllEd wr R 9 ysl A8,

413 (041 [dsadluie] AL alel yait 52

1. (A), (B) ¥4 (C) HIA.
2 (B), (C) ¥l (D) HIA.
3. (C), (D) ¥isl (E) HIA.
4 (A)¥d (D) HIA.
Options :
22742754061. 1
22742754062. 2
22742754063. 3

22742754064. 4

Question Number : 91 Question Id : 22742713876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YR SYIM 245 old YRl Y]

(A). SR BALSA Al UMM 2 5

(B). oldaR (M USAL el - ALIYA' ol clod] 4oy

(C). WetH p2Lell (Us[or N 22 4y

(D). a0 A6 [MUcle @19 1552 diel[Ascllsf] Qreid 241 YoM AL [A2YBl] d8el ool 269
(E). A2dt [Qtidlaol 2esiid il AllEd wr R 9 ysl A8,

413 (041 [dsadluie] AL alel yait 52

1. (A), (B) ¥4 (C) HIA.
2 (B), (C) ¥l (D) HIA.
3. (C), (D) ¥isl (E) HIA.
4 (A)¥d (D) HIA.
Options :
22742754061. 1
22742754062. 2
22742754063. 3

22742754064. 4

Question Number : 92 Question Id : 22742713877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Heysidlot AllsAl dleiSsdirl

(A). slauesil Hedl

(B). &xd(awd

(C). Bogaellel 1

(D). 2AtHa (@l

(E). YUt Lot

1% 2104 ([qseHiel A1) Al Yis 52

1. (A) ¥l (B) HIA

2 (C), (D) sl (E) HIA.
3. (B), (C) ¥ (E) HIA
4 (A) ¥al (E) HIA
Options :
22742754065. 1
22742754066. 2
22742754067. 3

22742754068. 4

Question Number : 92 Question Id : 22742713877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Heysidlot AllsAl dleiSsdirl

(A). slauesil Hedl

(B). &xd(awd

(C). Bogaellel 1

(D). 2AtHa (@l

(E). YUt Lot

1% 2104 ([qseHiel A1) Al Yis 52

1. (A) ¥l (B) HIA

2 (C), (D) sl (E) HIA.
3. (B), (C) ¥ (E) HIA
4 (A) ¥al (E) HIA
Options :
22742754065. 1
22742754066. 2
22742754067. 3

22742754068. 4

Question Number : 93 Question Id : 22742713878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



'qAd Qe sldsil Aules] —

(A). 3219 &yt yd

(B). sildeald il <A1

(C). el Al llds

(D). %.5L. 2l

(E). Heyes (4 Hlel

1% 2104 ([qseHiel A1) Al Yis 52

1. (A), (B), (C) ¥dl (D) HIA.
2 (A), (C), (D) ¥a (E) HIAL
3. (A) ¥id (D) HIA

4 (B), (C), (D) ¥a (E) HIA
Options :

22742754069. 1
22742754070. 2
22742754071. 3

22742754072. 4

Question Number : 93 Question Id : 22742713878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



'qAd Qe sldsil Aules] —

(A). 3219 &yt yd

(B). sildeald il <A1

(C). el Al llds

(D). %.5L. 2l

(E). Heyes (4 Hlel

1% 2104 ([qseHiel A1) Al Yis 52

1. (A), (B), (C) ¥dl (D) HIA.
2 (A), (C), (D) ¥a (E) HIAL
3. (A) ¥id (D) HIA

4 (B), (C), (D) ¥a (E) HIA
Options :

22742754069. 1
22742754070. 2
22742754071. 3

22742754072. 4

Question Number : 94 Question Id : 22742713879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oAdfloteld URstL Asd HIHIA AL Aefdi(Ed el
(A). HiHesdl sl (a1

(B). "o |6l 5" ¥ ol e tlolol) et [quLR

(C). &odtseil Asl(sd(auR

(D). %ztlel sd HRdLQUR

(E). ¥ [ot - slleuQlLA

1% 2104 ([qseHiel A1) Al Yis 52

1. (A), (B) ¥a (C) HIAL
2 (B), (C) ¥4 (D) HIA.
3. (C), (D) sl (E) HIA.
4 (A), (C) ¥d (E) HIA.
Options :
22742754073. 1
22742754074. 2
22742754075. 3

22742754076. 4

Question Number : 94 Question Id : 22742713879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oAdfloteld URstL Asd HIHIA AL Aefdi(Ed el
(A). HiHesdl sl (a1

(B). "o |6l 5" ¥ ol e tlolol) et [quLR

(C). &odtseil Asl(sd(auR

(D). %ztlel sd HRdLQUR

(E). ¥ [ot - slleuQlLA

1% 2104 ([qseHiel A1) Al Yis 52

1. (A), (B) ¥a (C) HIAL
2 (B), (C) ¥4 (D) HIA.
3. (C), (D) sl (E) HIA.
4 (A), (C) ¥d (E) HIA.
Options :
22742754073. 1
22742754074. 2
22742754075. 3

22742754076. 4

Question Number : 95 Question Id : 22742713880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AUl [detl Qe -

(A). Mld5cd

(B). [o1% Yuig:viLle [daeileil

(C). WtlleldilL

(D). ¥2cdell A1

(E). A1l

1% 2104 ([qseHiel A1) Al Yis 52

,:-?»H (D) HIA
([:gr Vet (E) HIA
(D) sl (E) HIA.

B) ?»H (C) HIA

1. (A
2.(B
3 (C)
4 (
Options :

22742754077. 1
22742754078. 2

22742754079. 3

22742754080. 4

Question Number : 95 Question Id : 22742713880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AUl [detl Qe -

(A). Mld5cd

(B). [o1% Yuig:viLle [daeileil

(C). WtlleldilL

(D). ¥2cdell A1

(E). A1l

1% 2104 ([qseHiel A1) Al Yis 52

,:-?»H (D) HIA
([:gr Vet (E) HIA
(D) sl (E) HIA.

B) ?»H (C) HIA

1. (A
2.(B
3 (C)
4 (
Options :

22742754077. 1
22742754078. 2

22742754079. 3

22742754080. 4

Question Number : 96 Question Id : 22742713881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



MY HllEuReidHi wale «il (A UdEl -
(A). HHdeysH 2oy

(B). HdeusH oy

(C). A2 IHs 2y

(D). ¥{cded 2dlsd QA

(E). [Qdaidiey Y2 ary

(13 24104 [dsedlHiel ALl wdle Ui 52

1. (B) ¥4 (C) HIA

2. (A), (B) ¥4 (C) HIA.
3. (A), (B) ¥4 (E) HIA.
4. (D) ¥4 (E) HIA
Options :
22742754081. 1
22742754082. 2
22742754083. 3

22742754084. 4

Question Number : 96 Question Id : 22742713881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



MY HllEuReidHi wale «il (A UdEl -
(A). HHdeysH 2oy

(B). HdeusH oy

(C). A2 IHs 2y

(D). ¥{cded 2dlsd QA

(E). [Qdaidiey Y2 ary

(13 24104 [dsedlHiel ALl wdle Ui 52

1. (B) ¥4 (C) HIA

2. (A), (B) ¥4 (C) HIA.
3. (A), (B) ¥4 (E) HIA.
4. (D) ¥4 (E) HIA
Options :
22742754081. 1
22742754082. 2
22742754083. 3

22742754084. 4

Question Number : 97 Question Id : 22742713882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HBALS oilet5eil slcu(qU RIS [drtedl
(A). sladl A dld 8

(B). QMY HIdI#IA

(C). xelsi®id 25 s[q 2 Ul s sl
(D). s(ad!t [QurRayys «i(&, [dsiAyys B
(E). dlsiudl sfadid uHi 8

1% 2104 ([qseHiel A1) Al Yis 52

1. (A) ¥l (B) HIAL

2 (A), (D) ¥ (E) HIA.
3. (C) sl (E) HIA.

4 (B), (C) ¥ (D) HIAL
Options :
22742754085. 1
22742754086. 2
22742754087. 3

22742754088. 4

Question Number : 97 Question Id : 22742713882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HBALS oilet5eil slcu(qU RIS [drtedl
(A). sladl A dld 8

(B). QMY HIdI#IA

(C). xelsi®id 25 s[q 2 Ul s sl
(D). s(ad!t [QurRayys «i(&, [dsiAyys B
(E). dlsiudl sfadid uHi 8

1% 2104 ([qseHiel A1) Al Yis 52

1. (A) ¥l (B) HIAL

2 (A), (D) ¥ (E) HIA.
3. (C) sl (E) HIA.

4 (B), (C) ¥ (D) HIAL
Options :
22742754085. 1
22742754086. 2
22742754087. 3

22742754088. 4

Question Number : 98 Question Id : 22742713883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[QQys YotaMddl AllculaurEllsL Bedls [HEell

(A). Uld@l 328 Aol yrdAAdl

(B). lsle, Aled el 2R4e] [AH[BL - Ul A s[Adloll 2quH - 2954 B
(C). Wdlal 512 1N A B oid] R HREL 53 B

(D). Wld@i2tioll auwis) Helesil Aol gl B4l B

(E). Wldettedlogeil Hiqosd

o4 2104l [qseHigl AR dle ude 52

1. (A) ¥id (E) HIAL
2 (A), (B), (C) s (D) HIA.

3. (B), (C), (D) ¥ist (E) HIA.
4. (C), (D) ¥l (E) HIA.
Options :

22742754089. 1
22742754090. 2
22742754091. 3

22742754092. 4

Question Number : 98 Question Id : 22742713883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[QQys YotaMddl AllculaurEllsL Bedls [HEell

(A). Uld@l 328 Aol yrdAAdl

(B). lsle, Aled el 2R4e] [AH[BL - Ul A s[Adloll 2quH - 2954 B
(C). Wdlal 512 1N A B oid] R HREL 53 B

(D). Wld@i2tioll auwis) Helesil Aol gl B4l B

(E). Wldettedlogeil Hiqosd

o4 2104l [qseHigl AR dle ude 52

1. (A) ¥id (E) HIAL
2 (A), (B), (C) s (D) HIA.

3. (B), (C), (D) ¥ist (E) HIA.
4. (C), (D) ¥l (E) HIA.
Options :

22742754089. 1
22742754090. 2
22742754091. 3

22742754092. 4

Question Number : 99 Question Id : 22742713884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A2 (&1 (edl2uledl Ha AUl toll weH ¢ slotl ol
(A). el Aol

(B). %2 1Nl

(C). HI> IR

(D). A2 U2l

(E). 2ldH 2ueiel

1% 2104 ([qseHiel A1) Al Yis 52

1. (D) el (E) HIA

2 (A) ¥id (D) HIA

3. (A), (B), (C) s (D) HIA.
4 (C), (D) sl (E) HIA.
Options :

22742754093. 1
22742754094, 2
22742754095, 3

22742754096. 4

Question Number : 99 Question Id : 22742713884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A2 (&1 (edl2uledl Ha AUl toll weH ¢ slotl ol
(A). el Aol

(B). %2 1Nl

(C). HI> IR

(D). A2 U2l

(E). 2ldH 2ueiel

1% 2104 ([qseHiel A1) Al Yis 52

1. (D) el (E) HIA

2 (A) ¥id (D) HIA

3. (A), (B), (C) s (D) HIA.
4 (C), (D) sl (E) HIA.
Options :

22742754093. 1
22742754094, 2
22742754095, 3

22742754096. 4

Question Number : 100 Question Id : 22742713885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



MLt | 2ReUof] Zedls [Aleredil

(A). Mol A3l Udlsleds 8

(B). ®IMlell A3l Aeled Sl B

(C). MINIsil 3d el AU Lls B

(D). MINL 30 HiAAdlY SN

(E). ®Iofl cudreymi 4l (1 Fddl e yeldl 1 8
1% 2104 ([qseHiel A1) Al Yis 52

1. (A) 244 (C) HIA.

2. (D) ¥4 (E) HIA.

3. (A), (B) ¥ (D) HIA.
4. (C), (D) ¥iel (E) HI4L
Options :
22742754097. 1
22742754098. 2
22742754099. 3

22742754100. 4

Question Number : 100 Question Id : 22742713885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



MLt | 2ReUof] Zedls [Aleredil

(A). Mol A3l Udlsleds 8

(B). ®IMlell A3l Aeled Sl B

(C). MINIsil 3d el AU Lls B

(D). MINL 30 HiAAdlY SN

(E). ®Iofl cudreymi 4l (1 Fddl e yeldl 1 8
1% 2104 ([qseHiel A1) Al Yis 52

1. (A) 244 (C) HIA.

2. (D) ¥4 (E) HIA.

3. (A), (B) ¥ (D) HIA.
4. (C), (D) ¥iel (E) HI4L
Options :
22742754097. 1
22742754098. 2
22742754099. 3

22742754100. 4

Question Number : 101 Question Id : 22742713886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AUl deMdUIHAHL ABLs UsRell GUUE HHIRAL -

(A). AxsdHl GUUE UHIMHL L HAdL »ullds Ut 's12' 3 'sRs' dlal
(B). At U [Aeilell UL (1[G

(C). lts Ucdd dH % [dar&alnl

(D). [AgNLI(dasy Auetqlal

(E). GUMlel GUHY Atdotdlenl

o4 2104l [qseHigl AR dle ude 52

1. (A), (B) ¥el (E) HIA.
2 (C), (D) ¥l (E) HIAL
3. (B), (C) ¥« (D) HIAL
4 (A), (B) ¥al (C) HIA.
Options :
22742754101. 1
22742754102. 2
22742754103. 3

22742754104. 4

Question Number : 101 Question Id : 22742713886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AUl deMdUIHAHL ABLs UsRell GUUE HHIRAL -

(A). AxsdHl GUUE UHIMHL L HAdL »ullds Ut 's12' 3 'sRs' dlal
(B). At U [Aeilell UL (1[G

(C). lts Ucdd dH % [dar&alnl

(D). [AgNLI(dasy Auetqlal

(E). GUMlel GUHY Atdotdlenl

o4 2104l [qseHigl AR dle ude 52

1. (A), (B) ¥el (E) HIA.
2 (C), (D) ¥l (E) HIAL
3. (B), (C) ¥« (D) HIAL
4 (A), (B) ¥al (C) HIA.
Options :
22742754101. 1
22742754102. 2
22742754103. 3

22742754104. 4

Question Number : 102 Question Id : 22742713887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e (e el [go(5d 8 adl wdlaile Qails21
(A). w1 L[ds Ueldl (galsd

(B). wulueeslqlotl (galsd

(C). AsHoil AYsl (galsd

(D). w215 diu-aletl (g5

(E). lded ey [galsd

1% 2104 ([qseHiel A1) Al Yis 52

1. (A), (B) ¥a (C) HIAL

2 (C), (D) sl (E) HIA.

3. (A), (B), (C) s (D) HIA.
4 (A) ¥al (E) HIA
Options :

22742754105. 1
22742754106. 2
22742754107. 3

22742754108. 4

Question Number : 102 Question Id : 22742713887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e (e el [go(5d 8 adl wdlaile Qails21
(A). w1 L[ds Ueldl (galsd

(B). wulueeslqlotl (galsd

(C). AsHoil AYsl (galsd

(D). w215 diu-aletl (g5

(E). lded ey [galsd

1% 2104 ([qseHiel A1) Al Yis 52

1. (A), (B) ¥a (C) HIAL

2 (C), (D) sl (E) HIA.

3. (A), (B), (C) s (D) HIA.
4 (A) ¥al (E) HIA
Options :

22742754105. 1
22742754106. 2
22742754107. 3

22742754108. 4

Question Number : 103 Question Id : 22742713888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dqls9fld rale vt wdelly [Ayys el -
(A). UIEL GLA) ALsHl

(B). Axddlstl 12 R

(C). HM £lgsl

(D). Wl (Y

(E). 514 G168l AHiu[aledl 51t

1% 2104 ([qseHiel A1) Al Yis 52

1. (A), (C) el (E) HIAL
2 (B) ¥dl (E) HIA.

3. (A) ¥id (D) HIA

4 (B), (C) ¥4 (D) HIA.
Options :
227427541009. 1
22742754110. 2
22742754111. 3

22742754112. 4

Question Number : 103 Question Id : 22742713888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dqls9fld rale vt wdelly [Ayys el -
(A). UIEL GLA) ALsHl

(B). Axddlstl 12 R

(C). HM £lgsl

(D). Wl (Y

(E). 514 G168l AHiu[aledl 51t

1% 2104 ([qseHiel A1) Al Yis 52

1. (A), (C) el (E) HIAL
2 (B) ¥dl (E) HIA.

3. (A) ¥id (D) HIA

4 (B), (C) ¥4 (D) HIA.
Options :
227427541009. 1
22742754110. 2
22742754111. 3

22742754112. 4

Question Number : 104 Question Id : 22742713889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



% 51 2UElel 12t dllS [anys el -
(A). UlRL[2Ls saLs12l

(B). UdlA slal

(C). W&t AUl 5121

(D). A%l MM LAl UL 5121

(E). aslin(d 5121

1% 2104 ([qseHiel A1) Al Yis 52
1. (A), (B) ¥el (C) HIA.

2. (B), (C) ¥sl (D) HIA.

3. (A) ¥l (E) HIA.

4.(C), (D) ¥ial (E) HI4.

Options :

22742754113. 1

22742754114. 2

22742754115. 3

22742754116. 4

Question Number : 104 Question Id : 22742713889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



% 51 2UElel 12t dllS [anys el -
(A). UlRL[2Ls saLs12l

(B). UdlA slal

(C). W&t AUl 5121

(D). A%l MM LAl UL 5121

(E). aslin(d 5121

1% 2104 ([qseHiel A1) Al Yis 52
1. (A), (B) ¥el (C) HIA.

2. (B), (C) ¥sl (D) HIA.

3. (A) ¥l (E) HIA.

4.(C), (D) ¥ial (E) HI4.

Options :

22742754113. 1

22742754114. 2

22742754115. 3

22742754116. 4

Question Number : 105 Question Id : 22742713890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



He sl HL[EA 2d2U U ALHeA 520112 Hellds

(A). %alelal 4

(B). 2L[21ed 11

(C). Ueslod HEdL

(D). WLldld 2Ll

(E). "Il Qu

o | A 241041 [dsediHiell A1) Fdle yde 53l

1 (B) 4 (C) HIA.

2 (A), (D) ¥ (E) HIA.

% (
(

), (C), (D) ¥4 (E) HIA.
), (C), (D) ¥4 (E) HIA.

Options :
22742754117. 1
22742754118. 2

22742754119. 3

22742754120. 4

Question Number : 105 Question Id : 22742713890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



He sl HL[EA 2d2U U ALHeA 520112 Hellds

(A). %alelal 4

(B). 2L[21ed 11

(C). Ueslod HEdL

(D). WLldld 2Ll

(E). "Il Qu

o | A 241041 [dsediHiell A1) Fdle yde 53l

1 (B) 4 (C) HIA.

2 (A), (D) ¥ (E) HIA.

% (
(

), (C), (D) ¥4 (E) HIA.
), (C), (D) ¥4 (E) HIA.

Options :
22742754117. 1
22742754118. 2

22742754119. 3

22742754120. 4

Question Number : 106 Question Id : 22742713891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



GHI2is2 A12il gsldid] 2axu Hed 53¢ [Qylell -

(A). gsldld] aeell 516 262 21690 ulHAlel, welldlel], el [=(ud 53 8
(B). gsldldl il ejedl Wsdia €18 GUHsicusAl dle 21T &

(C). sesueAl Alaul=Aui ¢slaldlsil slizusal A1 HAUIS B

(D). Auissil (Al2r2 MlauRRuU(d seuddledsdl Heed] dladl salele

(E). stail ¢[2a &slaldl Adasl s2di guslell ay <5 &

A1 204l [dsalHisl] AR rqle ue 52

1. (A), (B) ¥l (C) HIAL
2 (B), (C) ¥l (D) HIAL
3. (C), (D) ¥l (E) HIAL
4 (D) sl (E) HIA.
Options :
22742754121. 1
22742754122. 2
22742754123. 3

22742754124. 4

Question Number : 106 Question Id : 22742713891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



GHI2is2 A12il gsldid] 2axu Hed 53¢ [Qylell -

(A). gsldld] aeell 516 262 21690 ulHAlel, welldlel], el [=(ud 53 8
(B). gsldldl il ejedl Wsdia €18 GUHsicusAl dle 21T &

(C). sesueAl Alaul=Aui ¢slaldlsil slizusal A1 HAUIS B

(D). Auissil (Al2r2 MlauRRuU(d seuddledsdl Heed] dladl salele

(E). stail ¢[2a &slaldl Adasl s2di guslell ay <5 &

A1 204l [dsalHisl] AR rqle ue 52

1. (A), (B) ¥l (C) HIAL
2 (B), (C) ¥l (D) HIAL
3. (C), (D) ¥l (E) HIAL
4 (D) sl (E) HIA.
Options :
22742754121. 1
22742754122. 2
22742754123. 3

22742754124. 4

Question Number : 107 Question Id : 22742713892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



12Ul (B3 BAAURALHS AqesY 1] -
(A). Uldstius

(B). 5 2551 1512l

(C). Usl2Lsll USHIR

(D). SIAL uatlsfl a1sl

(E). t o4 d18S

1% 2104 ([qseHiel A1) Al Yis 52

1. (A) 244 (D) HIA

2. (A), (B) ¥4 (C) HIA.
3. (C), (D) el (E) HlIA.
4. (C) ¥4d (E) HIA
Options :
22742754125. 1
22742754126. 2
22742754127.3

22742754128. 4

Question Number : 107 Question Id : 22742713892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



12Ul (B3 BAAURALHS AqesY 1] -
(A). Uldstius

(B). 5 2551 1512l

(C). Usl2Lsll USHIR

(D). SIAL uatlsfl a1sl

(E). t o4 d18S

1% 2104 ([qseHiel A1) Al Yis 52

1. (A) 244 (D) HIA

2. (A), (B) ¥4 (C) HIA.
3. (C), (D) el (E) HlIA.
4. (C) ¥4d (E) HIA
Options :
22742754125. 1
22742754126. 2
22742754127.3

22742754128. 4

Question Number : 108 Question Id : 22742713893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



W letH el
(A). A8 Wstloll WIRH A2Udl 5[ 2B, 211l 2]

(B). A& sl AeUslY B

(C). w8t sl Rlell 5[d 1682, R Alque B

(D). A8t Wt AL qY HHSE) el 9y wIEldell S1U B
(E). A6 sl A4 Eldl Bl edell usud R uSdl Sl B
o4 2104l [qseHigl AR dle ude 52

1. (C), (D) ¥ (E) HlIL
2 (A), (B) ¥al (C) HIA.
3. (A) ¥dl (E) HIA.

4 (B) ¥d (C) HIA.
Options :
22742754129. 1
22742754130. 2
22742754131, 3

22742754132. 4

Question Number : 108 Question Id : 22742713893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



W letH el
(A). A8 Wstloll WIRH A2Udl 5[ 2B, 211l 2]

(B). A& sl AeUslY B

(C). w8t sl Rlell 5[d 1682, R Alque B

(D). A8t Wt AL qY HHSE) el 9y wIEldell S1U B
(E). A6 sl A4 Eldl Bl edell usud R uSdl Sl B
o4 2104l [qseHigl AR dle ude 52

1. (C), (D) ¥ (E) HlIL
2 (A), (B) ¥al (C) HIA.
3. (A) ¥dl (E) HIA.

4 (B) ¥d (C) HIA.
Options :
22742754129. 1
22742754130. 2
22742754131, 3

22742754132. 4

Question Number : 109 Question Id : 22742713894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



uldeil 21 sd 'GUEl e syl ed -

(A). sMlell Hd Ul uisdl e GUEl Heludl e3 8

(B). GlUEla Uiy Uisdl 4 5l sucl a1dl &

(C). 4ot Uclletl WHell 51281 QIUEL uddi Udet Ul & wd alsei Y[EB UR 8
(D). SIUE] YNl 1Sl iy Ul gNHId %A &

(E). CIUEl v HI=l] Hidl sRdlla 2 AU B

A1 2104 [Asedluiel AL wdlel ubs 52

1. (A) ¥l (E) HIAL

2 (B) ¥d (D) HIA.

3. (B), (C) ¥ (D) HIAL
4 (A), (B) ¥al (C) HIA.
Options :
22742754133. 1
22742754134, 2
22742754135, 3

22742754136. 4

Question Number : 109 Question Id : 22742713894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



uldeil 21 sd 'GUEl e syl ed -

(A). sMlell Hd Ul uisdl e GUEl Heludl e3 8

(B). GlUEla Uiy Uisdl 4 5l sucl a1dl &

(C). 4ot Uclletl WHell 51281 QIUEL uddi Udet Ul & wd alsei Y[EB UR 8
(D). SIUE] YNl 1Sl iy Ul gNHId %A &

(E). CIUEl v HI=l] Hidl sRdlla 2 AU B

A1 2104 [Asedluiel AL wdlel ubs 52

1. (A) ¥l (E) HIAL

2 (B) ¥d (D) HIA.

3. (B), (C) ¥ (D) HIAL
4 (A), (B) ¥al (C) HIA.
Options :
22742754133. 1
22742754134, 2
22742754135, 3

22742754136. 4

Question Number : 110 Question Id : 22742713895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dsNl (2192052 (MR sd ARt ddad sl e
(A). UlsE] UH¢HI SR B

(B). sHHidLsldl

(C). 5¥Rlid

(D). Ulddls] salel2s

(E). dY¢siolell UH sl

1% 2104 ([qseHiel A1) Al Yis 52

1. (A), (C) el (E) HIAL
2 (A) ¥id (D) HIA

3. (C), (D) sl (E) HIA.
4 (B) ¥dl (E) HIA.
Options :
22742754137. 1
22742754138. 2
22742754139. 3

22742754140. 4

Question Number : 110 Question Id : 22742713895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dsNl (2192052 (MR sd ARt ddad sl e
(A). UlsE] UH¢HI SR B

(B). sHHidLsldl

(C). 5¥Rlid

(D). Ulddls] salel2s

(E). dY¢siolell UH sl

1% 2104 ([qseHiel A1) Al Yis 52

1. (A), (C) el (E) HIAL
2 (A) ¥id (D) HIA

3. (C), (D) sl (E) HIA.
4 (B) ¥dl (E) HIA.
Options :
22742754137. 1
22742754138. 2
22742754139. 3

22742754140. 4

Question Number : 111 Question Id : 22742713896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[Ea{l21 Hdl 5d 'e2stl ¥ Y2 oil (Aol Yle -
(A). €2

(B). 4d

(C). A5 Bl

(D). el

(E). tiinfaqls

1% 2104 ([qseHiel A1) Al Yis 52
1. (A) 2 (D) HIA

2. (B) ¥l (E) HIA.

3. (A\), (B) ¥l (C) HIA

4. (B), (C) ¥e (E) HIA

Options :

22742754141. 1

22742754142. 2

22742754143. 3

22742754144, 4

Question Number : 111 Question Id : 22742713896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[Ea{l21 Hdl 5d 'e2stl ¥ Y2 oil (Aol Yle -
(A). €2

(B). 4d

(C). A5 Bl

(D). el

(E). tiinfaqls

1% 2104 ([qseHiel A1) Al Yis 52
1. (A) 2 (D) HIA

2. (B) ¥l (E) HIA.

3. (A\), (B) ¥l (C) HIA

4. (B), (C) ¥e (E) HIA

Options :

22742754141. 1

22742754142. 2

22742754143. 3

22742754144, 4

Question Number : 112 Question Id : 22742713897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sl 21201 H&dl 5d "=l Ydotlsfl Aestl Hi iRl AalEl
(A). AL g aNl yd 21 qlef] %2 &dl

(B). vzl 1 & 24 U o481 G

(C). Bl 25551 ot

(D). dH Wil 2AAAR o12l B Y2y 291 UHIS A wied] 203

(E). & #l & aell g Histdl o8l 2

oi1q 2104 [qsafHiel]l A1) wale Yie 52

1. (A) ¥4 (E) HIAL
2. (D) ¥4 (E) HIA.
3. (B) ¥el (D) HIA.
4. (C) ¥4el (E) HIA.
Options :
22742754145. 1
22742754146. 2
22742754147.3

22742754148. 4

Question Number : 112 Question Id : 22742713897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sl 21201 H&dl 5d "=l Ydotlsfl Aestl Hi iRl AalEl
(A). AL g aNl yd 21 qlef] %2 &dl

(B). vzl 1 & 24 U o481 G

(C). Bl 25551 ot

(D). dH Wil 2AAAR o12l B Y2y 291 UHIS A wied] 203

(E). & #l & aell g Histdl o8l 2

oi1q 2104 [qsafHiel]l A1) wale Yie 52

1. (A) ¥4 (E) HIAL
2. (D) ¥4 (E) HIA.
3. (B) ¥el (D) HIA.
4. (C) ¥4el (E) HIA.
Options :
22742754145. 1
22742754146. 2
22742754147.3

22742754148. 4

Question Number : 113 Question Id : 22742713898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[Asd HL[E ¥2d

(A). 519 2 [ddl % ¥o] Huo qe1

(B). A[5cldloll HsHI 52 Ul[EA

(C). [Qadedl ulR1Y sld2qsll eisi2

(D). st yded 251 28 dq AllE

(E). B UlleUHI [2U1A4) Hislq W sl H5d S1Y
1% 2104 ([qseHiel A1) Al Yis 52

1. (C), (D) ¥ (E) HlIL

2 (A), (B), (C) s (D) HIA.
3. (B) ¥dl (C) HIA.

4 (A) ¥al (E) HIA
Options :

22742754149, 1
22742754150. 2
22742754151, 3

22742754152. 4

Question Number : 113 Question Id : 22742713898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[Asd HL[E ¥2d

(A). 519 2 [ddl % ¥o] Huo qe1

(B). A[5cldloll HsHI 52 Ul[EA

(C). [Qadedl ulR1Y sld2qsll eisi2

(D). st yded 251 28 dq AllE

(E). B UlleUHI [2U1A4) Hislq W sl H5d S1Y
1% 2104 ([qseHiel A1) Al Yis 52

1. (C), (D) ¥ (E) HlIL

2 (A), (B), (C) s (D) HIA.
3. (B) ¥dl (C) HIA.

4 (A) ¥al (E) HIA
Options :

22742754149, 1
22742754150. 2
22742754151, 3

22742754152. 4

Question Number : 114 Question Id : 22742713899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Yool U] 5d AT Hed —

(A). He™ < [5clcd o] 2Aid loll WAL s2dlsd] G{le.
(B). A3s20ll sl WHIEL Al ER2ll 2 B B B,
(C). Ae% el [HA B Ulcdlo] He™ A [5cled 2nd] 240 B
(D). Ae% 2wl [NUA] 365 ASTIUAUHT ueteleil oteil.

(E). A2 Uled ud oo%ell 2ASTAUNUHI Udls AU 8 .
o4 2104l [qseHigl AR dle ude 52

1. (A), (B), (C), (D) ¥l (E).
2 (A), (B) ¥l (C) HIA.

3. (E) HIA..

4 (A)HIA

Options :

22742754153. 1
22742754154, 2
22742754155, 3

22742754156. 4

Question Number : 114 Question Id : 22742713899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Yool U] 5d AT Hed —

(A). He™ < [5clcd o] 2Aid loll WAL s2dlsd] G{le.
(B). A3s20ll sl WHIEL Al ER2ll 2 B B B,
(C). Ae% el [HA B Ulcdlo] He™ A [5cled 2nd] 240 B
(D). Ae% 2wl [NUA] 365 ASTIUAUHT ueteleil oteil.

(E). A2 Uled ud oo%ell 2ASTAUNUHI Udls AU 8 .
o4 2104l [qseHigl AR dle ude 52

1. (A), (B), (C), (D) ¥l (E).
2 (A), (B) ¥l (C) HIA.

3. (E) HIA..

4 (A)HIA

Options :

22742754153. 1
22742754154, 2
22742754155, 3

22742754156. 4

Question Number : 115 Question Id : 22742713900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dlsuy ALl Aed UL Qs

(A). sUlldcd el A% sdletl AL ALl

(B). stdl (A2 el 24deid] HIlEd] Wlzudledl gl
(C). Hldl A2 e1Rdledl (Ql=t0101

(D). WelH WA RS HLS slLEY2

(E). dldl asiel &2

1% 2104 ([qseHiel A1) Al Yis 52

1. (A), (B) ¥el (C) HIA.
2. (C), (D) ¥el (E) HI4L
3. (A) Vel (E) HIAL

4 (E)HIA

Options :
22742754157. 1
22742754158. 2
22742754159. 3

22742754160. 4

Question Number : 115 Question Id : 22742713900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dlsuy ALl Aed UL Qs

(A). sUlldcd el A% sdletl AL ALl

(B). stdl (A2 el 24deid] HIlEd] Wlzudledl gl
(C). Hldl A2 e1Rdledl (Ql=t0101

(D). WelH WA RS HLS slLEY2

(E). dldl asiel &2

1% 2104 ([qseHiel A1) Al Yis 52

1. (A), (B) ¥el (C) HIA.
2. (C), (D) ¥el (E) HI4L
3. (A) Vel (E) HIAL

4 (E)HIA

Options :
22742754157. 1
22742754158. 2
22742754159. 3

22742754160. 4

Question Number : 116 Question Id : 22742713901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(42241 ol (|21 did Ay s3]

ALE]L- SIEAN]

A sl § deiai w2 1. Gyl Gulry
B. diy 4sl deidg I1. (219 #ws]
C. 2uIH Ul wd ¥4 . dl> yilled
D. Wil e el v, alad (34l

|2 24104 [aseaqlHiell Al adlel udbe s

1.(A) - (1), (B) - (I), (C) - (11}, (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (IV), (B) - (1), (C) - (1), (D) -(I1)
4. (A) - (IV), (B) - (1), (C) - (I, (D) - (1)
Options :

22742754161. 1
22742754162. 2
22742754163. 3

22742754164. 4

Question Number : 116 Question Id : 22742713901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(G221 o (|21 i 8y 530

ALE]L ALl

A olsl § deiuai w2 1. Gyl GuliY
B. diy 4sl deidg I1. (219 ¥ws]
C. 2uIH Ul wd ¥4 . dl> yilled
D. Wil e el v, alad (34l

|2 24104 [aseaqlHiell Al adlel udbe s

1.(A) - (1), (B) - (I), (C) - (11}, (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (IV), (B) - (1), (C) - (1), (D) -(I1)
4. (A) - (IV), (B) - (1), (C) - (I, (D) - (1)
Options :

22742754161.1



22742754162. 2
22742754163. 3
22742754164. 4

Question Number : 117 Question Id : 22742713902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[@2e-1 4 (G221 118 AY 532

ALEL- ITTAR]

A. 1l vis usiRe] dwet & | »ls tlrel

B. il Hlfecl glal uale 8 & 1. 2lai eqte

C. ¥olld Hejrleil Hid1%deis] UlseUs . Yl =212
D. @iMleil El2 8] U2Uell Hrosted] anmojaell 8 V. R

o2 211049 [asadiuiel] H1l sdlel e sl

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV
2. (A)- (1) (B) - (1) (C) - (I), (D) - (V
3. (A) - (IV), (B) - (Ill), (C) - (II), (D) - (I
4 (A) - (1), (B) - (IV), (C) - (llI), (D) - (I

)
)
)
)
Options :

22742754165. 1

22742754166. 2

22742754167. 3

22742754168. 4

Question Number : 117 Question Id : 22742713902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(42241 ol (|21 did Ay s3]

ALE]L- ITEARY

A. dlell ¥is usie st 8 | »is Lrel

B. iyl Hllecdl glal uale e & 1. 2lai eqtef

C. dolld Hejrsil Hiddois] Ya1sedel . Yl =22
D. @Y=l €2 5] Y242e11 Hrodetsi] 2nojusil 8 IV, AT

|2 24104 [aseaqlHiell Al adle] ude 52

1. (A) - (1), (B) - (lI), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (IV), (B) - (1), (C) - (I, (D) - ()
4. (A) - (1), (B) - (IV), (C) - (), (D) - (1)
Options :

22742754165. 1
22742754166. 2
22742754167. 3

22742754168. 4

Question Number : 118 Question Id : 22742713903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(G221 o (|21 i 8y 530

ALE]L ALl

A draHee I [amguaie [Aael
B. ulzllas II. GiRis 2zl
C. U = AL . uHlesHIR Yed
D. uldzlos V. 2L (9. diss

|2 24104 [aseaqlHiell Al 2dle] ude s

1.(A) - (1), (B) - (IN), (C) - (1), (D) - (IV)
2. (A) - (IV), (B) - (1), (C) - (I, (D) - ()
3. (A) - (), (B) - (1), (C) - (IV), (D) - (IlT)
4. (A) - (1), (B) - (), (C) - (IV), (D) -(IT)
Options :

22742754169. 1



22742754170. 2
22742754171. 3
22742754172. 4

Question Number : 118 Question Id : 22742713903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[@2e-1 4 (G221 118 AY 532

ALEL- ALEL-I

A draHeel I [anguaie [(Hael
B. ul22llas II. G115 22l
C. 2UA ¥=l AL . UHleSHIR Yed
D. uldzloe V. 2L (9 dies

o2 211049 [asadiuied] H1l sdlel ude sl

1.(A) = (1), (B) - (I1), (C) - (1), (D) - (IV
2 (A) - (IV), (B) - (Ill), (C) - .:n (D) - (I
3. (A) - (1), (B) - (1), (C) - .;

4. (A)- (), (B) - (1), (C) - Il {D*-

)
)
()
1)
Options :

22742754169. 1

22742754170. 2

22742754171. 3

22742754172. 4

Question Number : 119 Question Id : 22742713904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(42241 ol (|21 did Ay s3]

ALE]L- T EAR]

A. #ldsdle WETE]
B. Hiw? Il AlegU
C. v¥iald . cdel
D. geudel WAL

|2 24104 [aseaqlHiell Al adlel ude s

1. (A) -
2 (A)-
3. (A) -
4 (A)-

), (B) - (lI), (C) - (1), (D) - (IV)
1), (B) - (IV), (C) - (1), (D) - (liT)
I}, (B) - (1), (C) - (IV), (D) - (I)
V), (B) - (Ill), {C) - (I, (D) - (1)

— S

Options :

227427541731
22742754174, 2
22742754175. 3

22742754176. 4

Question Number : 119 Question Id : 22742713904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(G221 o (|21 i 8y 530

ALE]L YLELI

A #ldsdls WETE]
B. Hiw? I AlegU
C. v¥iald . cdel
D. geudel WAL

|2 24104 [aseaqlHiell Al adlel ude s

1. (A) -
2 (A)-
3. (A) -
4 (A)-

), (B) - (lI), (C) - (1), (D) - (IV)
1), (B) - (IV), (C) - (1), (D) - (liT)
I}, (B) - (1), (C) - (IV), (D) - (I)
V), (B) - (Ill), {C) - (I, (D) - (1)

— S

Options :
227427541731



22742754174. 2
22742754175. 3
22742754176. 4

Question Number : 120 Question Id : 22742713905 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[@2e-1 4 (G221 118 AY 532

A1l AN
A Hlsl Hdl | «d1ela e Allea
B. Hlalwd 2d Alled II. |dd ol

C. ddatlec - dellts w1 #Hlal

. »ezie Al

D. ddaiell - drd W dd V. [e13%el 21D

o2 21104 [asadiuiel] H1l sdlel e sl

1. (A) - (1), (B) - (IV) {C ] {DL (11
2. (A) - (11, {Eh (1), (C) - {I 1)
3.(A)-(D, (B)- (I, (C) - {I]I] { ] (IV)
4. (A) - (IV), (B) - (1), (C) - (1), (D) - (I}
Options :

22742754177. 1
22742754178. 2
22742754179. 3

22742754180. 4

Question Number : 120 Question Id : 22742713905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(42241 ol (|21 did Ay s3]

ALE]L- eIl

A 128 Adl I =ledlgig Allea
B. Hl2ies 2d Alles II. edendd ol

C. Adtledt : d2ilus 2 Hulail 1. »e Ae el
D. Adtall : ded 2 d V. [sl3%el 2D

|2 24104 [aseaqlHiell Al adle] ude s

1..(A) - (I, (B) - (IV), (C) - (1), (D) - (1)
2. (A) - (1), (B) - (1), (C) - (IV), (D) - (IIT)
3. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
4. (A) - (IV), (B) - (1), (C) - (I, (D) - (1)
Options :

22742754177.1
22742754178. 2
22742754179. 3

22742754180. 4

Question Number : 121 Question Id : 22742713906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(G221 o (|21 i 8y 530

ALE]L TEART

A. Gal [zl I Hedll

B. Hl-l [zl I1. Hsrl

C. A»asil ueH 212 1. 2APe=l A=l ued lsd
D. 2Apasl vildu 2z IV, 2Apaeil Azell 2ildu dlsd

|2 24104 [aseqlHiell Al adle] ude s

1.(A) - (1), (B) - (I), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (IV), (C) - (1), (D) - (I1)
3. (A) - (), (B) - (1), (C) - (IV), (D) - (IlT)
4. (A) - (IV), (B) - (1), (C) - (I, (D) - (1)
Options :

22742754181. 1



22742754182. 2
22742754183. 3
22742754184. 4

Question Number : 121 Question Id : 22742713906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[@2e-1 4 (G221 118 AY 532

ALE]] ALELI
Gal [zl . 4l
B. Aleil (Hu2 II. Hdl

C.Anael UeH 212

1. 2=l 22et] ueH lsd

D. 26l vildu 212

IV, 2veetl 22et] 2 [dn ilsd

o2 211049 [asadiniel] H1l sdlel e sl

1. (A)- (1), (B) {I\ [CJ (11, (D) - (I\J)
2. (A) - (1), ( V), (C) - J {D* (I1)
3. (A) - (1), {E!u H [CJ (IV (1)
4. (A) - (IV), (B) - (1), (C) - {I\ rD - (1)
Options :

22742754181. 1
22742754182. 2
22742754183. 3
22742754184. 4

Question Number : 122 Question Id : 22742713907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(42241 ol (|21 did Ay s3]

ALE]L- TART

A W(210uU [ 5det I Hlzi &2

B. 2j&eial I1. =R &A1ES
C. 89 dleil oHlet I, A%, w2l
D. dHd Iv. 2eils Aeel

|2 24104 [aseaqlHiell Al adlel ude 52

1.(A) - (1), (B) - (IN), (C) - (1), (D) - (IV)
2. (A) - (IV), (B) - (1), (C) - (I, (D) - (1)
3. (A) - (1), (B) - (IV), (C) - (1), (D) - (I1)
4. (A) - (IV), (B) - (1), (C) - (1), (D) - (11
Options :

22742754185. 1
22742754186. 2
22742754187.3

22742754188. 4

Question Number : 122 Question Id : 22742713907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(G221 o (|21 i 8y 530

ALE]L ITART

A w1210l 5det I Hlzi &2

B. 2j&eial I1. =R &A1ES
C. 89 dleil oHlet I, A%, w2l
D. dHd Iv. 2eils Aeel

|2 24104 [aseaqlHiell Al adlel ude 52

1.(A) - (1), (B) - (IN), (C) - (1), (D) - (IV)
2. (A) - (IV), (B) - (1), (C) - (I, (D) - (1)
3. (A) - (1), (B) - (IV), (C) - (1), (D) - (I1)
4. (A) - (IV), (B) - (1), (C) - (1), (D) - (11
Options :

22742754185. 1



22742754186. 2
22742754187. 3

22742754188. 4

Question Number : 123 Question Id : 22742713908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[@2e-1 4 (G221 118 AY 532

ALEL- AR

A vilal | RIS
B. UHlel-l [asiz I HHUE]
C. Y&l . yalan
D. Ului2] wis3 V. Udls

o2 211049 [asadiniel] H1l sdlel e sl

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) - (ID), (B) - (111}, (C) - (IM), (D) - (I}
3. (A) - (1), (B) - (1), (C) - (111}, (D) - (IV}
4. (A) - (IV), (B) - (1), (C) - (1), (D) - (I}
Options :

22742754189. 1

22742754190. 2

22742754191. 3

22742754192. 4

Question Number : 123 Question Id : 22742713908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(42241 ol (|21 did Ay s3]

ALE]L- AR

A vilal | SIS
B. Udlel-il [asiz Il HHYEl
C. Hyaal . yalan
D. dlyizl wis3 V. Udls

|2 24104 [aseaqlHiell Al adle] ude s

1. (A) - (1), (B) - (lI), (C) - (1), (D) - (IV)
2. (A) - (I}, (B) - (11), {C) - (IM), (D) - (1)
3. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
4. (A) - (IV), (B) - (1), (C) - (I, (D) - (1)
Options :

22742754189. 1
22742754190. 2
22742754191. 3

22742754192. 4

Question Number : 124 Question Id : 22742713909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(G221 o (|21 i 8y 530

ALE]L ALEHI

A sl 1. 642156 ge IR 12 Y2 ols]
B. sl 1. 5112 el o HIG=Ee

C. %lHds 5 .9 21ud

D. [Mesil 35 IV, Al=2l 19 A=t

|2 24104 [aseaqlHiell Al adle] ude s

1.(A) - (1), (B) - (I, (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (I11), {C) - (1), (D) - (IV)
3. (A) - (1), (B) - (IV), (C) - (I, (D) - ()
4. (A) - (IV), (B) - (1), (C) - (I, (D) - (1)
Options :

22742754193.1



22742754194. 2
22742754195. 3

22742754196. 4

Question Number : 124 Question Id : 22742713909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[@2e-1 4 (G221 118 AY 532

ALEL- ALEHI

A sl 1. 612l s6 de W12 el Y2 wllod
B. sl 1. 5112 el o 4G

C. %lds & . g 21ud

D. [Mesilog 35 IV, Ale2l g HldlHet

o2 211049 [asadiniel] H1l sdiel e sl

1. (A) - (1), (B) - (1), (C) - (1T}, (D) - (IV

2 (A) - (1), (B) - (INN), (C) - (1), (D) - (IV

3. (A) - (1), (B) - (IV), (C) - (II), (D) - (I
Yoz

)
)
)
4. (A) - (IV), (B) - (1), (C) - (In), (D) - (1)

24
-
Options :

22742754193. 1

22742754194, 2

22742754195, 3

22742754196. 4

Question Number : 125 Question Id : 22742713910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(42241 ol (|21 did Ay s3]

ALE]L- SRR

A. w2l satetl dlow w1+l 2Ais 1. 244[5ei] 042

B wilaliz I1. [ sted 4ilu
C. dlel-il wealdl 3t 1. &2[52=t Hedl
D. vl v, [dgq dsul

|2 24104 [aseaqlHiell Al adlel ude 52

1.(A) - (1), (B) - (I), (C) - (11}, (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (IV), (D) - (IN)
3. (A) - (), (B) - (11), {C) - (1), (D) - (IV)
4. (A) - (IV), (B) - (1), (C) - (I, (D) - (1)
Options :

22742754197.1
22742754198. 2
22742754199. 3

22742754200. 4

Question Number : 125 Question Id : 22742713910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(G221 o (|21 i 8y 530

ALE]L SRR

A wHldl satetl Ul =H1g-il atis TR

B wilaik I1. [ sted 4w
C. dlel-il wealdl 3t 1. &2[52=t Hedl
D. vl v, [dgq dsul

|2 24104 [aseaqlHiell Al adlel ude 52

1.(A) - (1), (B) - (I), (C) - (11}, (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (IV), (D) - (IN)
3. (A) - (), (B) - (11), {C) - (1), (D) - (IV)
4. (A) - (IV), (B) - (1), (C) - (I, (D) - (1)
Options :

22742754197.1



22742754198. 2
22742754199. 3
22742754200. 4

Question Number : 126 Question Id : 22742713911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
slOLSHHT dledl

(A). @l - HR

(B). =il - ull5al

(C). dleleeHi Hievd]

(D). g

(E). WAH

o |2 {10l [asaiiel dil wale Uit 53

1. (A),
2 (C),
3. (D),
4. (E),

), (C), (D), (E).

i

A), (B), (E), (D).
. [ ), (E), (A).
D,. C), (B), (A).

(B
(
(G
(
Options:

22742754201 1
22742754202. 2
22742754203. 3

22742754204. 4

Question Number : 126 Question Id : 22742713911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slogsHH A4l -
(A). dl-HR
(B). =1l - ut(521

(C). 26 H] Hiee]

_—
=
2

geusle]
(E). WALH

o | A 241041 [dsediHiell A1) Fdle yde 53l

Options :

22742754201. 1
22742754202. 2
22742754203. 3

22742754204. 4

Question Number : 127 Question Id : 22742713912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



sl sHHT ded)

(A). M4 551

(B). &le ALSIHR

(C). ¥4 2ldle2?

(D). s4lo®l s

(E). Aai wite]

o | A 241041 [dsediHiell A1) Fdle yde 53l
1.(B). (D). (E). (A). (C).
2 (A), (B), (C). (D), (E).
3. (E), (D). (C). (B), (A).
). (E). (A), (C), (B).

Options :
22742754205. 1
22742754206. 2

22742754207. 3

22742754208. 4

Question Number : 127 Question Id : 22742713912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



sl sHHT ded)

(A). M4 551

(B). &le ALSIHR

(C). ¥4 2ldle2?

(D). s4lo®l s

(E). Aai wite]

o | A 241041 [dsediHiell A1) Fdle yde 53l
1.(B). (D). (E). (A). (C).
2 (A), (B), (C). (D), (E).
3. (E), (D). (C). (B), (A).
). (E). (A), (C), (B).

Options :
22742754205. 1
22742754206. 2

22742754207. 3

22742754208. 4

Question Number : 128 Question Id : 22742713913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slnsHH Aledl -

(A). AUTsllHs sl (dsiled

(B). MMl

(C). HURAd ¥ HURRd o

(D). [AQyetsll [Qetilerd ue

(E). stlstllay

1% 2104 ([qseHiel A1) Al Yis 52

. (B), (C), (D), (E).
( ), (C), (B), (A).
(B), (A), (E), (C), (D).
(

Options :

227427542009. 1
22742754210. 2
22742754211. 3

22742754212. 4

Question Number : 128 Question Id : 22742713913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slnsHH Aledl -

(A). AUTsllHs sl (dsiled

(B). MMl

(C). HURAd ¥ HURRd o

(D). [AQyetsll [Qetilerd ue

(E). stlstllay

1% 2104 ([qseHiel A1) Al Yis 52

. (B), (C), (D), (E).
( ), (C), (B), (A).
(B), (A), (E), (C), (D).
(

Options :

227427542009. 1
22742754210. 2
22742754211. 3

22742754212. 4

Question Number : 129 Question Id : 22742713914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slnsHH Aledl -

(A). YM[duls

(B). A%2Ucll Nl 24 ALlEA
(C). AUl A5

(D). etz oDl

(E). 1522 [auel

o | A 241041 [dsediHiell A1) Fdle yde 53l

Options :

22742754213. 1
22742754214. 2
22742754215. 3

22742754216. 4

Question Number : 129 Question Id : 22742713914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slnsHH Aledl -

(A). YM[duls

(B). A%2Ucll Nl 24 ALlEA
(C). AUl A5

(D). etz oDl

(E). 1522 [auel

o | A 241041 [dsediHiell A1) Fdle yde 53l

Options :

22742754213. 1
22742754214. 2
22742754215. 3

22742754216. 4

Question Number : 130 Question Id : 22742713915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slnsHH Aledl -

(A). Y ¥l 2 LAY

(B). clsHl[Eca] HHIEIUs

(C). Ul¥slloll Alde1Hs w1€lysll

(D). dllElcus A2Nust (42

(E). 2= el At

1% 2104 ([qseHiel A1) Al Yis 52

1. (A), {Eﬁ} (C), (D), (E).
2. {Cj- ), (A), (D), (E).
3 ), (C), (A), (B).
{ (C), (B), (A).

_l:.

Options :

22742754217. 1
22742754218. 2
22742754219. 3

22742754220. 4

Question Number : 130 Question Id : 22742713915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slnsHH Aledl -

(A). Y ¥l 2 LAY

(B). clsHl[Eca] HHIEIUs

(C). Ul¥slloll Alde1Hs w1€lysll

(D). dllElcus A2Nust (42

(E). 2= el At

1% 2104 ([qseHiel A1) Al Yis 52

1. (A), {Eﬁ} (C), (D), (E).
2. {Cj- ), (A), (D), (E).
3 ), (C), (A), (B).
{ (C), (B), (A).

_l:.

Options :

22742754217. 1
22742754218. 2
22742754219. 3

22742754220. 4

Question Number : 131 Question Id : 22742713916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slnsHH Aledl -

(A). slaulzA

(B). slazdd

(C). 5l edUdR M

(D). 25125

(E). #1551 Q1A daiod

1% 2104 ([qseHiel A1) Al Yis 52

), (D), (E), (A), (B).
(A), (D), (E), (C).

), (B), (C), (D), (E).

), (D), (C), (B), (A).

Options :

22742754221. 1

22742754222. 2

22742754223. 3

22742754224. 4

Question Number : 131 Question Id : 22742713916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slnsHH Aledl -

(A). slaulzA

(B). slazdd

(C). 5l edUdR M

(D). 25125

(E). #1551 Q1A daiod

1% 2104 ([qseHiel A1) Al Yis 52

), (D), (E), (A), (B).
(A), (D), (E), (C).

), (B), (C), (D), (E).

), (D), (C), (B), (A).

Options :

22742754221. 1

22742754222. 2

22742754223. 3

22742754224. 4

Question Number : 132 Question Id : 22742713917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slotsHH Aledl -

(A). A1{let

(B). ol &od

(C). dHH

(D). Pretaflotnl

(E). AU

o |2 210 [dsaiHiedl HIl wdled Yt 53

), (A), (D), (E), (C).

), (D), (C), (B), (A).

), (B). (C), (D), (E).
), (A), (C), (D).

Options :

22742754225, 1

22742754226. 2

22742754227. 3

22742754228. 4

Question Number : 132 Question Id : 22742713917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slotsHH Aledl -

(A). A1{let

(B). ol &od

(C). dHH

(D). Pretaflotnl

(E). AU

o |2 210 [dsaiHiedl HIl wdled Yt 53

), (A), (D), (E), (C).

), (D), (C), (B), (A).

), (B). (C), (D), (E).
), (A), (C), (D).

Options :

22742754225, 1

22742754226. 2

22742754227. 3

22742754228. 4

Question Number : 133 Question Id : 22742713918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slo1sHH A6d] -

(A). U2

(B). Hwlld?

(C). ¥Ids

(D). dflet

(E). Al lecl®

1% 2104 ([qseHiel A1) Al Yis 52

. (C), (D), (E).
(E), (C), (D).

Options :

22742754229. 1
22742754230. 2
22742754231. 3

22742754232. 4

Question Number : 133 Question Id : 22742713918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slo1sHH A6d] -

(A). U2

(B). Hwlld?

(C). ¥Ids

(D). dflet

(E). Al lecl®

1% 2104 ([qseHiel A1) Al Yis 52

. (C), (D), (E).
(E), (C), (D).

Options :

22742754229. 1
22742754230. 2
22742754231. 3

22742754232. 4

Question Number : 134 Question Id : 22742713919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slOLsHHT Jledl
(A). 4 d¥2 G5
(B). 4 21449

(C). A8[221 512 AL

(D). 1 AS
(E). Aledl 2{ld HleHaA
o | A 241041 [dsediHiell A1) Fdle yde 53l

B). (C), (D), (E).
), (D), (E), (C).
), (A), (D), (E), (B).
), (D), (C), (B), (A).
Options :
22742754233. 1
22742754234. 2
22742754235. 3

22742754236. 4

Question Number : 134 Question Id : 22742713919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slOLsHHT Jledl
(A). 4 d¥2 G5
(B). 4 21449

(C). A8[221 512 AL

(D). 1 AS
(E). Aledl 2{ld HleHaA
o | A 241041 [dsediHiell A1) Fdle yde 53l

B). (C), (D), (E).
), (D), (E), (C).
), (A), (D), (E), (B).
), (D), (C), (B), (A).
Options :
22742754233. 1
22742754234. 2
22742754235. 3

22742754236. 4

Question Number : 135 Question Id : 22742713920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slnsHH Aledl -

(A). A1l Alle ulne

(B). AU ULl sleH]

(C). A%Ud UllSUuUL

(D). slelA Az2tdl Uedl

(E). A1d [Qandls

1% 2104 ([qseHiel A1) Al Yis 52

(B), (C). (D), (E).
(C), (E), (A), (D).
), (C), (A), (E), (B).
), (D), (C), (B), (A).
Options :
22742754237. 1
22742754238. 2
22742754239. 3

22742754240. 4

Question Number : 135 Question Id : 22742713920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slasHH] Aledl

(A). AUl Alle ulng

(B). A%2Ud Hlled 2sleH]

(C). A% Al[SAAL

(D). sleld w2udl Hell

(E). A%s2Ud [aandls

A1 2104 [Asedluiel AL wdlel ubs 52

D),
A),
El,
B),

1. (A), (B), (C), (
2.(B), (C), (E), (
), B
) A).

)
D).
3. (D), (C), (A )

(E
(
(
4.(E), (D), (C (

(
(
Options :

22742754237. 1
22742754238. 2
22742754239. 3

22742754240. 4

Question Number : 136 Question Id : 22742713921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
5151281 Aol duld]l -

BejHlol A - AR221eded] 2%S] seBlled stell, s2R1e 8.
SRR - ¥Rl 29Sletl [anua deflz ssdl B, 521 «1(s.
of 13 (Hief] 4122 [asey e 53 -

1. Add R o [aulel HIUl B wad R W Al 410y yuydl 8.
2 A el R el [Qylell HIUL B 2al R 3 A of] 0194 HUYAL ot2il
3IAHND RV S

4 AV O RHUN S

Options:



22742754241.1
22742754242. 2
22742754243. 3

22742754244, 4

Question Number : 136 Question Id : 22742713921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

sis1201 Hoiy quil -

wajHlod A - W [R2eledsd] 25l sellled oAell, s2R1 8.
SRR - WR2led 29Sletl [anast dfeilz ssdl §, s»l«i(s.
of|Ast (18l 419y (A5 yaie 53 -

1. Adld R ol [Aulel UL D o R ¥ Aol 0104 HHYA] 8.
2 Audl R el [Qrylell HIUL B 2al R W A ofl 20194 qHYcAL ot2il
JAARN B RUIE 8.

4 AV RUIYS.

Options :

22742754241. 1

22742754242 2

22742754243. 3

22742754244, 4

Question Number : 137 Question Id : 22742713922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



s1ds21 Hold dull ;

oMol A - WSAYlqIYS 2l WUL2S .

SRR - MMM sllellH stioll tafod 2Ut25 oiad .
of [ %ol (Mgl A12Y [dsey Urie 53 -

1. A el R 6o} [dulefl AU D 2l R W Aol A28 HHYAL B,
2 Axd R tid [lefl HIUL B ¥ad R A A ol 4104 1Moyl w2l
3AURD RS

4 AV RUX S

Options :

22742754245, 1

22742754246, 2

22742754247. 3

22742754248. 4

Question Number : 137 Question Id : 22742713922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
5151291 Aol duiAl -

VeiHle A WEqUeqYs | ¥ULes §.

SIRELR : HINIML allelH] otlefl ealed 2Ue2s ofad .
SIDETSICIRNRIN CELTRIEERE

1. A el R 6o} [dulefl AU B 2al R 3 Aol 410% qUd] B,
2 Axd R el [Aelefl MU B o R A A ol 4104 1Ml el
3AURD RUE D

4 AVIZH RUX S

Options:

22742754245, 1

22742754246, 2

22742754247, 3

22742754248. 4



Question Number : 138 Question Id : 22742713923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

of | et [ (Atlollof] uetteldl ULl -

[Adlet | - d5lel HiA €246 % €25 208 B
[adlet 11 - (el (s[2eal eeu. 29l 1dls, dida uBl ges A3 B
of | Aot (112l 410 [asey ue 571 -

1. [Quitet | 4 [Qulet 11 ol [Qulsfl AL D,
2. [Qtilel | 244 [Qulet 11 Gial [quledl vl 8.
3. (Quied | ¥R B, url [aulet 11 vl 8.

4. (quied 1 W1E &, ULl ([Qule 11 1R 8.
Options:

22742754249. 1

22742754250. 2

22742754251, 3

22742754252. 4

Question Number : 138 Question Id : 22742713923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oi | %ol (Qeiloflof] detteldl dulAl -

[Qtilel | - @slot HIA €240 % €25 AG B,

[Qeitst 11 - gleul (s(eal oy, 2l dle, dda Ul 4es A9 B
of [ %ol (Mgl A12Y [dsey Urie 53 -

1 [Qulel | e [Qule 11 oia [Quledl AR D,
2 [aulel | e [Qulet 11 tid [Quledl Wl 8.
3. (Qdled | ¥R B, uLl [adlet 1u1E 8.
4. (qulel | W1E B, ULl [Qule 11 1R B

Options :

22742754249. 1
22742754250. 2
22742754251.3

22742754252. 4

Question Number : 139 Question Id : 22742713924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o{ 12l (Aeilellell 2esieldtl dull ;

[Qtilsl | - WR(RLE dgDeeteoll (A1 @112l «eil.
[Qtilel 11 - Udls HLAHAHT BesUsil S1d] % A,
of 13 (Hief] 4122 [asey e 53 -

1 [(Qdled | 24 [QHled 11 Gia (Qulell AR D,
2 [aulsl | w4 [Qulet 11 oid ([quledl Wlel 8.
3. (adlel | ¥R B, ya [adlst (1 w12 8
4 (adlel | W1 B, Ul [yl 11 1R 8.

Options:

22742754253, 1
22742754254, 2
22742754255. 3

22742754256. 4



Question Number : 139 Question Id : 22742713924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

of | et [ (Atlellof] uetieldl ULl -

[Qrtet 1 - WR(R1e AeNstell 4 [eAat ¢1at oell.
[Qeilet 11 - U s HeMltelH] Gesustl €ld] % F1eA.
of | Aot (112l 410 [asey ue 571 -

1 [Quiel | 24 [Quled 11 oial [Quledl AR B,
2 [aulet | w1 [Qutet 11 oid [quiedl Wlel 8.
3. [aule | 1 B, ULl [aulst 112 &
4. (quied 1 W1¢ &, ULl ([Qule 11 1R 8.

Options:

22742754253, 1
22742754254. 2
22742754255. 3

22742754256. 4

Question Number : 140 Question Id : 22742713925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o{ |14l (Atilstlof] detteldl dulAl -

[Qilst | - SRcdlddlell du 2 25 Uik(2ls ey B

[Qyilst 11 - @Rdld sUALEsL BegHl a0 AR Ba- SlU B,
of 1%t Mol A12Y [dsey Uaie 53 -

1. (Qtlel | 24 (Gl 11 ol [Qeiell AU B,
2 [aulsl | w4 [Qulet 11 oid ([quledl Wlel 8.
3. (adlel | IR B, ual [adlet 1 w12 8
4 (adlel | W1 B, Ul [yl 11 1R 8.



Options :

22742754257. 1
22742754258. 2
22742754259. 3
22742754260. 4

Question Number : 140 Question Id : 22742713925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

oi | %ol (Qeiloflof] detteldl dulAl -

[Qetlst | - SRcdld Lol du 2 s Uk(21s Hed 1 B

[Qeilst 11 - @tRdld sUALEsL BogHl 3a0 AL Badd E1U B.
of [ %ol (Mgl A12Y [dsey Urie 53 -

1. [Qulel | el [Qdled 11 oial [Quiedl A S,
2. [adlet | 244 (e 11 eia [Qulefl vzl &
3. [Quiet 1 41 &, uLt [adled 11 W18 &

4 [aQuiel 1 W1 & uwl [adld 11 1Y 8.
Options :

22742754257. 1

22742754258, 2

227427542509. 3

22742754260. 4

Sub-Section Number : 2
Sub-Section Id : 227427545
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742713926 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

|2 12 1 f1 a4l et 2o (s i,
et o USHRI R

ss] Qullefl 4 Bsq ol

oo AT Al Shreig sl
el e e

WS (aefl WLl

4 13 18 sy

syl W aldilad

20 Ml eyl &
525 Y6 § Ashid

45t s 40 il €l
sl s 4 1618l yiomi
ael 12 &ls 4

1608 el

Sub questions

Question Number : 141 Question Id : 22742713927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



83 USIUL % slcdsildsa @] 8l AR B 2

Wlasl
g9l
5[y
Gl

[

o

Options :

22742754261. 1
22742754262. 2
22742754263. 3

22742754264. 4

Question Number : 142 Question Id : 22742713928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
w2 U GLAg s[O3 Hi 54l 44512 B 2

ALl
- [derR (5
- Gdlal

[

o

Options :

22742754265. 1
22742754266. 2
22742754267. 3
22742754268. 4

Question Number : 143 Question Id : 22742713929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



'dSsletl diedl diedl AL HI 59 56U B 2

1. ¢2USCYs

2 Hlds8q

3. Hdsdd

4 HlL5C
Options :
22742754269. 1
22742754270. 2
22742754271.3

22742754272. 4

Question Number : 144 Question Id : 22742713930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

'SlNellg’ logell w18 il

1. tielg

2. 5814

3. MMslelR

4 £&{l

Options :
22742754273 1
227427542742
22742754275. 3

22742754276. 4

Question Number : 145 Question Id : 22742713931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



slesf|Ysedl Yls 518162 53 B 2

1. Uced]

2. [del

3. ¢dl

4. &lusl
Options :
22742754277. 1
22742754278. 2
22742754279. 3

22742754280. 4

Question Id : 22742713926 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



|2 e il o2 e et 2o (gseu eautl,
el [ttt USHR 2

Wsls] Wdlefl B Blsq ald

Haet] ISJH A St )
sl ot et Y

WS (G WSS

e U3 18 4l

6 04 1l Bl .

6] wuttle et &aa

tos s 16 § Asmid
5t 415 0wl €l
st ats o (28] yoaou
qel] 424l 415 45 &1

1616 32

Sub questions

Question Number : 141 Question Id : 22742713927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

43 USIUAI % slcsilisa 2] 82l ah 8 2

1. ulas)
2. tg1u]
3. 5l0y
4 Qe

Options :

22742754261. 1



22742754262. 2
22742754263. 3

22742754264. 4

Question Number : 142 Question Id : 22742713928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
eel2 Yl GlAq s(d 1l 54l A5 B 2

YAl
EREETENIES

: GL_-C.&['.

[ o

e

Options :

22742754265. 1
22742754266. 2
22742754267. 3

22742754268. 4

Question Number : 143 Question Id : 22742713929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
'dSsletl diodl divdl AL Hi 59 s6Ud B 2

1. ¢RUSCq

2 Hlcdstlq

3. HdsUsd

4. gllEl50
Options :
22742754269. 1
22742754270. 2

22742754271. 3



22742754272. 4

Question Number : 144 Question Id : 22742713930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

'Sl 9lugedl vie] lidL

1. 412lg

2. 5&lv

3. HeslelR

4 &6

Options :
22742754273. 1
22742754274. 2
22742754275. 3

22742754276. 4

Question Number : 145 Question Id : 22742713931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

slclof 1Y sefl Yls sl g2 53 8 2

1. Ueed]

2. [elel

3. ¢4l

4. Slusl
Options :
22742754277. 1
22742754278. 2
22742754279. 3

22742754280. 4

Sub-Section Number : 3



Sub-Section Id : 227427546
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 22742713932 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742713933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
ML B ?

1. &N Ied] Yelell o uHidl mastefl yel

2 eildseil HaAs Adeil F15 of Udldl HefHtled 3 (A2
3. %5 Udellell Uld=u

4 of 212001 4e{0ld

Options:

22742754281, 1

22742754282. 2



22742754283. 3

22742754284. 4

Question Number : 147 Question Id : 22742713934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

eIy o1l 240 (Y ¥ eq
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2 M 2861 xUAgsIRs iNIell U
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Options :

22742754285. 1

22742754286. 2

22742754287. 3

22742754288. 4

Question Number : 148 Question Id : 22742713935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

¢{[NL 5[de 56 A USSR B 2

1. Ulsidedl el
2. qlalelsfl eimpell
3. £3dld% 52218
4 Gsedlell ey ell
Options :
227427542809. 1
22742754290. 2
22742754291. 3

22742754292. 4



Question Number : 149 Question Id : 22742713936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

s(ddi (42 Hel Gualad] sl 20ld 56 20d 53 8 2

1. g v 21wl ol ussiRla
2 ldélied] el g2 wda

3. UURA2ld HINL U sl Aadla
4 [d[3d 214 s s2la
Options:

22742754293. 1
22742754294. 2
22742754295. 3

22742754296. 4

Question Number : 150 Question Id : 22742713937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

U soil NI g sefl Adelldl 58 2d uaLeld § 2

1. el L[astietefl Yo A1 4 1sH2L8]

2. s Hul [Apuel yee(del

3 ¥sq [seyslel

4. 5[q¥] s34 QleeH] 2Axs AUIEL 21os s1S1E]
Options:

22742754297. 1

22742754298, 2

22742754299, 3

22742754300. 4

Question Id : 22742713932 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742713933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. & lefl Heleil o unidl wassl yel

2 ®ldseil 2els Adell A5 o Adldl Hejdtlad 3 (A2
3. 4% Adeiladl Uld=u

4. of V{1l He{™d

Options :

22742754281. 1

22742754282. 2

22742754283. 3

22742754284. 4

Question Number : 147 Question Id : 22742713934 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

M N Lodl 246244 We2]

1. NI 2841 dlrd(ds 1 videold [axedef] o4y
2 NHI 284] vicugslFs Nl 210 H
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Options :

22742754285. 1

22742754286. 2

22742754287. 3

22742754288. 4

Question Number : 148 Question Id : 22742713935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

MINL 5[4 56 A USSR B 2

1. Ulsldedl emyieil
2. qlael=fl eiypell
3. £3dldo 52208
4 Gesedlell einell
Options :
22742754289. 1
22742754290. 2
22742754291. 3

22742754292. 4

Question Number : 149 Question Id : 22742713936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4. [d[HAd 71a s1d s34
Options :

22742754293, 1
22742754294, 2
22742754295. 3

22742754296. 4

Question Number : 150 Question Id : 22742713937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742754297. 1
22742754298. 2
22742754299. 3

22742754300. 4



